PERIODIC TABLE OF THE ELEMENTS / d<al &Y 3Tdd gRUiY

Q1. Newlands relation is called

R CELRELETCICIN

(a) Musical Law /'\':i?ﬂ(_-fa?l?lﬁ

(b) Law of Octaves/3TSCeh &l @hle]oT

(c) Periodic Law /mﬁaama\?r

(d) Atomic Mass Law /9YHTUT S AT HlefeT

Sol- Law of octaves: The generalization made by the English chemist J.A.R. Newlands in 1865.
If the chemical elements are arranged according to increasing atomic weight, those with similar
physical and chemical properties occur after each interval of seven elements.

3r5eeh o fTH: 3 THR . T.3R. @RI ST 1T ATHGAROT| 1865 H wolsH |
afe; TETafersh Tl Y gd §U IHATY] R o AR AR fhar STar g, aF T sifas 3R
AT foteh I[OTH aTel | dcdl & Yedeh kTl H AG Bl o |

2. The law of Octaves' was proposed by: /3-ﬁ7=|%?\'=f Fr F9H7 Fas Canrr grarfad foear arar
T

(a) Johann Dobereiner /SITgTeT SISRISeX

(b) Alexander Newlands /3TolgaisX o-ﬁ\_lﬁ?ﬂ:f

(c) Lothar Meyer/aTaT AT

(d) Dmitri Mendeleev /fI&TRAT Hsella

RRB NTPC 08.04.2021 (Shift-1) Stage Ist
o 3fleFced F1 [ATH 1865 H SileT HelFoisy wgeisH GaNT e foham aram

3eglal 39 GHI AT Gl Tcal I AT98T GRA] gedAT & e H Th dliclel A
caareyd |

o I§ 3egiel UG fohaT, df 3¢ URTAF decdl & &g Ueh Yol fHer|

o UYed ¥ Udr I F YAS ded U H 316 TUTH 31ET & ded & THTT AT

e 3H WS & URUMATIRT o-qt\(:i“s FT 3¢ AT JIR fHAT I-™ATIThe Law of Octaves was

proposed by John Alexander Newlands in 1865.
e He arranged all the elements known at that time into a table in order of relative atomic mass.
e When he did this, he found a pattern among the early elements.
e The pattern showed that each element was similar to the element eight places ahead of it.
e Newland's law of Octaves was formulated as a result of this discovery.

3. Which of the following resembles the 10th element in Newland's periodic classification?

[FFfaf@d & & &l =gl & 3afe Fefieor # 108 ded § fAorar Sorar g2
(a) Third
(b) Ninth
(c) Fourth
(d) First
RRB ALP & Tec. (20-08-18 Shift-1)
e British chemist John Alexander Newland developed the octave rule in the year 1865.
e He arranged the elements in order of their increasing atomic weight and found that starting from
any element, the 8th element had the same properties as the first element.
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PERIODIC TABLE OF THE ELEMENTS / d<al &Y 3Tdd gRUiY

e This relationship was the same as the 8th musical vowel relationship with the first musical vowel.
e Thatis, the 10th element in the periodic table will show the same quality with the third element.

o fofeer TR Sl 3eeaist #gels o a¥ 1865 H e faw Rwfaa

e 3@l dcdl dY 3o dod WAIY] HR & IJAR Faieyd fohar 3R arar & fanedr o
ded @ & Feh 8d ded H Ug ded & FHG 0T I

o g TEY 3Sd HINd TG T Tgol Il TAX o 1T FaeT ST gr 27|

o RN HET RO # 10d7 Ted HER ded & AT FAT I[oraam G@mea|

4. Why the noble gases were not included in Newland’s octave series?/ e-qtﬁ’sj{-l 3iTered "bcll&dl H

3cohse AT @ et @t wET fehar I

(a) These elements were not known at that time/ I decd 39 HT AT ol I

(b) These elements do not react/ ¥ dcd ATATSHAT sTal T

(c) These elements do not follow the rule of octave series / ¥ ded 37S¢sh Ao & T Fr
qrelel aTal ad o

(d) These elements do not complete the octet/ ¥ ded 37S¢h qa Ter I &
RRB GROUP-D 23.09.2022 (Shift-1)

5. Newland's octave series was applicable till which element?/ o-q(\ﬁ's $r F@eas ’BBEIHT fha dea
ds o] A
(a) Ca
(b) Cr
(c) Co
(d) C
RRB GROUP-D 29.08.2022 (Shift-1)
RRB GROUP-D 26.09.2022 (Shift-11)

6. Upto which element, the Law of Octaves was found applicable?
3rsceh ol Tia# fehdl ded oeh of1a] 91T I1T?

(a) Oxygen /3iTFdTateT
(b) Calcium /hToRTIH
(c) Cobalt /FIdTee

(d) Potassium /9Tc e

Sol- The law of octaves was found to be applicable till calcium. After calcium, the properties of the
next elements were not synchronous as per the law of octaves.

Hecleh T T2 SHTeFH Teh o] 91T 31T | HToRIH o dle;, 3HITel dcdl & I[OT Hocleh & gH &
ITHR FHFI o 6T A

7. Elements .......... were placed in the periodic table of Newland with halogens. /acar .......... Fr

gellotel & A 7gels HT 3MaT RO H @ =7 AT
(a) Mn and As

(b) Fe and Se

(c) Ceand La

(d) Co and Ni
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e Newland formulated the Octave rule and for this rule he prepared a table in which cobalt (Co-27)
and nickel (Ni-28) were placed in the category of halogen elements.

e According to Newland’s law of octaves, starting from any element the eighth element had the
same properties as the first element had the same properties as the first element.

o iz o Jieed A For 3R 36 A & fav 3egie T drferel AR &1 forae
PaTee (Co-27) IR fATer (Ni-28) F gallele dear &r Auft & T@r aT|

o TGl & e ATH & AR, el o dcg @ YE 8 arel 376 dcd & IOT Tgel
dcd & A & g1 gl

8. Which of the following elements was the last element in Newland's law of octaves?/ IGESICIECE]
& F @l AT dcd =gels & 3seeh T @ e dea or
(a) Bromine /siT#HTeT
(b) Hydrogen/@'l%‘;"l?rlﬂ'
(c) Thorium /ATRTH
(d) Rubidium /3fef3aer
RRB ALP & Tec. (31-08-18 Shift-I)
e John Newland was an English scientist.
e They Classified known elements up to that time in increasing order of their atomic masses.
e By the time of Newland the number of known elements was 56.
e He ended the classification on thorium, starting with hydrogen, the element with the lowest
e atomic mass in the classification.
e They found that the property of each 8th element in the classification is the same as the first
element.

e He compared this classification to the octave of music and named it the principle of Octave. This
classification of Newland is known as Newland's Octave Principle.

o Sl 7ol Th 3T deAfarer I

o 3ogidl 3 GAY T A cdedl I 3elch WA GTAT & S6d e H HAgIh fohar|

o oIS & HAY dd AT dedl T HEAT 56 AT

o 3Sogiel MRIH G IO I FATCT AT 1T, S & BI85l & Y& giell g, dAca T
HH &

o TIHIOT H TAV] GeTHA.

o 3ogiel IR b FEliehoT H Gedeh 3MTSd ded T IO TgS! ded o FH g

o 3ogiel 38 TINRIUT I Tolell HIflcT & Foceh & &I 3R & Teash feurd & A1
fear| gols & 38 FEleuT 1 7gels & 3rcceh fAqUid & A & S ST &

9. According to Newlands' law of octaves, how many elements exist in nature?/rqﬁ’sj{-l & 3Tch
a7 & 3ER ypfd & fohas dea Hisig 82
(a) 56
(b) 66
(c) 55
(d) 65
RRB ALP & Tec. (20-08-18 Shift-1Il)
e According to Newlands law of octaves, 56 elements exist in nature.
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e |n 1865, the British scientist John Newlands arranged known elements in ascending order of

atomic mass.

e He started with the low atomic mass element hydrogen and finished it with the 56th element
thorium.

e He found that the property of every eighth element is similar to the property of the first
element.

o PISH & Icch [FH & IEAN, Ihfd & 56 dcd HISE Bl

o 1865 H fofeer qanieieh Sl #gelsH & AT dcal I WAY] Ged AT & ARG HA H
cafeda faam|

o 3ogiel HH THAV] GeTHA dTl ded gISgioll & YT HT 3R 564 dea MRITA &

Y 38 gATCT [

3egiel 9T o Yedeh 3HTSd ded &1 0T Ygol ded & 0T & FA gl

RRB Group-D 30-10-2018 (Shift-l)
e Newland believed that only 56 elements existed in nature.
e |n 1866, John Newlands, an English scientist, arranged the then known elements in order of
increasing atomic mass.
e They started with the element with the lowest atomic mass (hydrogen) and ended with
thorium which was the 56th element.

o Tl A AT F yFHfd 7 Faer 56 dca Algg B

o 1866 H, T IS A3AMaleh Siiel wglsd o WHY] GeTAW HI Tald & HA H
dcahTallel AT dedl ol eaaedd foha|

o 3Gl HIH HH WA GeIAT (FI5gIote) dTel ded @ Y& fahar ik aifas &
AT FATCA §IHT S 5637 TFea 2|

11. Who discovered that the properties of every eighth element are the same as the first
element?/fh8a TS fF T 3MM6d ded & 0T Ugel ded & HAT 2

(a) Newland /F«’Iﬁ?—‘;
(d) Mendeleev /F3elld@
(c) Doberiner /3R
(d) Moseley /ATl

e |n 1865, Newland showed that when the elements are arranged in increasing order of their
atomic masses, the every eights element has same properties the first element.
e Similar to the eighth note in the octave of music. Sa re ga ma pa dha ni sa.

o 1865 H,7gcls & oW 7 51§ dedl @I 3o9eh WA GeTA & Fod HH H
SHATEI T ST &, @ Ycdeh 3HT6d ded & (0T Ugel oed & FHAE 81d &
o TMT & Tcdsd H 3HT6d TAX o GHAWT| T Y M AT 9T &7 =7 .
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12. Scientists named Newlands, Mendeleev and Mayer developed......... ?/Fqﬁ?\,'\q', HAzellg 3R AW
ATHE d3TIen  fahfad f&ar...?

(a) Metallurgy/iﬂaaﬂﬁ'

(b) Periodic Table of elements /dcal &T 3Tad AROM

(c) Atomic structure/9YHTIT AT

(d) Discovery of elements /dcal T @IeT
RRB NTPC Stage Ist 30.04.2016 (Shift-111)

e Scientists named Newlands, Mendeleev, and Mayer developed periodic table contents.

e |nthe 19th century, several attempts were made to groupsify the elements, including Proust's
hypothesis, Doberiner's triad theory, Duma's equidistant series, Newland's Octave law, etc., in
which the atomic weights of the elements in these early attempts to groupsify the elements was
made based on classification.

o PoizH, Hseld 3N AW S daTfeent o 3Mad GRol wfaa i

o 1987 AATSEl H, eal T HHAGIHA oA & HS G fhU 91T, ST yr3ee 6
IR, SRR T T AU, STAT T FHIEY HToll, 7gels HT 3iered g
e el &, fTHHA dedl Y FHEIP el & Il YRIAH TATET H dcdl & TAT]
HT AT|

13. According to Newlands rule of octaves, ....... , Which resembles cobalt and nickel in properties, is
kept far away from these elements. /o-qt\&vsj{-l F e [FIHT & AN, ....... , ST 3;I'U'I>I' #H FIeTec

AR foeher & AT Slefdm &, 31 dedl & g @M ST &
(a) Al

(b) Fe

(c) Mn

(d) Mg

RRB Group-D 10-10-2018 (Shift-l)
e Newland placed cobalt (Co) and nickel (Ni) in a group on the same property, while iron (Fe),
which has the same properties as cobalt (Co) and nickel (Ni)

o 3 o HaTec (Co) 3N Aehel (Ni) T Teh & WU W Teh HHg A @I, Safeh aitgr
(Fe), {5k 90T eTee (Co) R el (Ni) & HAT &

14. According to Newlands' law of octaves, 'iron', which resembles ....... and ..... in properties, is kept
far away from these elements -/o-qt\&vsg{-l F e [FIH & 3-1?-_|1'\'=|T\", I S U;I'U'ﬂ' = N IR

. & AN QT &, 31 dcdl & 9§ gy @M Al & -
(a) Co and Ni
(b) Ni and Mn
(c) CoandCu
(d) Cu and Ni

RRB Group-D 19-09-2018 (Shift-1)
RRB Group-D 10-10-2018 (Shift-il)

15. 1N s Newlands arranged the known elements according to the increasing order of atomic
masses and found that the properties of each eighth element are similar to the properties of he first

SHIPRA CHAUHAN@CLASS24/ CLASS24



PERIODIC TABLE OF THE ELEMENTS / d<al &Y 3Tdd gRUiY

element. /........... H 7gelsd & AT dedl P WA GIAA & Tod A & AR
afeyd fohar 3R grr i YAF 3T6d ded & 0T Yg ded & IAUN & FAC &
(a) 1860

(c) 1844

(b) 1964

(d) 1864

RRB Group-D 16-11-2018 (Shift-1ll)

e In 1864-65, John Newland classified the elements in increasing order of their atomic masses,
finding that the property of each eighth element is similar to the first element.
e He named this classification "the principle of octave".

o 1864-65 H, Sl #gols & Tcal T 3eTeh YATY] GeTHAT & dGdd e H Faliehel
fopar, 3R 9T [ 9+ 3Med deg 1 FU 98l ded & AT gl
3ogiel 39 aTHIOT I "315¢eh 1 fAgurd” 1A &

16. Which of the following classifications was based on atomic masses? /ﬁmﬁ'@ﬂ' HO T ar
FITRIOT AT GeFAT T e am

(a) Dobereiner, Newlands and Moseley

(b) Dobereiner, Mendeleev and Moseley

(c) Dobereiner, Newlands and Mendeleev

(d) Mendeleev, Newlands and Moseley

RRB Group-D 01-10-2018 (Shift-1)

e Dobereiner, Newlands and Mendeleev groupsified elements based on atomic masses. John
Dobreiner divided the elements into groups of three on the basis of their properties.

e These groups are called triacs.

e According to this, the average mass of atomic masses of the elements in the group obtained by
decorating the elements of a triplet in the order of their atomic masses is equal to the atomic
mass of the middle element.

o SINIEN, ~geisH iR ASeNT A WA GeTATA o MUR T cledl I FHGIHIOT fhaT|
Siiel SleieiX & Teal I 3eTeh IO o IMUR W oliel Tl & Tl ol

o 3 THE H F Fer AT Bl

o FHG IR T & dedl dI 3elch WA GTAGT & HA H Tollel & UIed THE &
dcdl & 9RHAY] GegHATe &l 3T GedAE HYY ded & WAY] Gedd T & SNIaT giar
gl

17. The rule of octaves was applicable only till ................... /375eeh HT I hdol .o
deh elTd] ATl

a) Magnesium /HaRIT#

b) Zinc /S

c) Calcium/ahfoRIIET

d) Bromine /SYHIT
RRB Group-D 10-12-2018 (Shift-1il)
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e The rule of octaves was applicable only to the calcium. In 1865-66, an English scientist John
Newlands formulated the Octave Rule.

e According to which, if we decorate the elements in the order of their increasing atomic mass,
then starting from an element, exactly the eighth element will have the same properties as the
first element.

e  But this law was abandoned after inert gases were discovered.

o 375Ceh @ TTH shael HCTH TT ] BT ATl 1865-66 H Teh 3{dIeT deflioleh Silel
elsd o 3iided HIH S|

o TSI E% 3TER, IS §H dedl @I 3oTh Tod WHAY] SedAA & HA H Fold g, ol Th
ded @ YE Hleh, Slh IHTed ded A Ugel ded & FHATT 0T gil|

o dfder 3fhg At & T & 96 37 Fe B B3 e |

18. Newlands' octave rule applies only till ............. element. /O'qt\('\‘{vféﬂ FI 315ch HAIH Fhad
............... ed Y Sf19] Biem B

(a) Sulphur /eI

(c) Potassium /9T e

(b) Calcium /hToRTIH

(d) Chlorine /&FaRIsT

RRB Group-D 05-12-2018 (Shift-l)

RRB JE CBT-1l 28—-08-2019 (morning)
e Newlands' octet rule was applicable only to calcium.
e The Newlands table was devised by John Newlands in 1866 according to his rule of octets.
e |n his theory, he stated that when elements are arranged according to their increasing atomic

weight then every eighth element has the same properties as the first element.

o TNISH I IHcCh HAAH dHhao HioIH T & e ATl
o 1866 H Siiel ~YISH @RI 3o IiSceh fIIH & TR ~Polsq Tl AN HT 715 |
o 39T AU &, 3ogldl Fgl & 9 dcdl F 3% ded WAY] HR & HJAR FGRId

fohar ST § @ Ycdeh 3T6d ded # Ugel ded & FHE 0T g1 ¢

16. Name the German chemist who grouped elements into triads in 1817. /38 STHA AT Fl
AT JATST TSI 1817 H dcdl @l B & Fopgiend foham |

(a) John Newlands/STTeT R@E\F

(b) Henry Moseley/gsTdI #HIdel

(c) Johann Wolfgang Dobereiner /SITgTe alcWhaiaT ?IQTIB?R

(d) Dmitri lvanovich Mendeleev /T sarrﬂﬁzr Aol
RRB NTPC 20.01.12021 (Shift-1l) Stage Ist

e |n 1817, a German Chemist Johann Wolfgang Dobereiner arranged the elements with similar
properties in a group. Dobereiner Triad is based on three elements group.

e He was the first person who started grouping of elements on the basis of atomic weight.

e He has also discovered the halogen triad of Chlorine, Bromine and lodine and the alkali metal
triad of Lithium, Sodium and Potassium.
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o 1817 H T ST THRAATEA SiIgld dlethdlal SIeRTSeR o FHA I[ON dlel dcal HT Teh
g # Fareyd fRar| SR s i dedl & Hog WX 3muiRa g

e T Ugd AT ¥ Segled WA HR & HUR W dedl HT A el Y& R

o 3ol FaANI, AT iR IAE & galoer 37 3R s, aifsge 3k aefga &
&N o7 T T o @ier &7 g

17. Which one of the following triads represents the Dobereiner triad? /[Aff@a & @ sia a@r
T SR 7T H gfafAftica swar g2

(a) Li, Na, K
(b) Li, Ca, Cl
(c) Na, Sr, Br
(d) Li, K, Na
RRB ALP & Tec. (10-08-18 Shift-Ill)

e |nthe early 19th century a German chemist, John Dobereiner, divided the elements into groups
of three based on their properties.

e These groups are called triacs or triads.

e According to them, when the elements of a triplet are placed in the order of their atomic
masses, the average of atomic masses of the elements in the group obtained by decorating the
element of a triplat the order their atomic masses is equal to the atomic mass of the element in
the middle. Li, Na, K represent a Dobereiner triad.

o 1981 TEN AT YTINA H Teh ST IHIAA, SlleT S-SR & cledl Pl 3eTeh JOW o
YR 9T et Gt A faentara femam

o ST WHE N 3 AT M Fgl AT &

o 3% AR, 59 forell ek & Teal T 3oTeh WA GedA AT & A H @M ST &, af
B & dcdl @I 3ol WA GIATH & HH HA Folled § UIcd FHE & cedl & AT
SeTAT T 3 3eTeh WA AT & R gl o #ALT H #Alg ded &ML o, o,
& TH INREHR 7T H YAt s &

18. The Law of Triad was given by ?/3 <l IGREE e =CIRY fe=r arar ar?
(a) Henry Moseley /golI #FIFer

(b) John Newlands /g=RI #H&el

(c) D.I. Mendeleev /BPI'.}TI?“?'. Heella

(d) J.w. Dobereiner/GTSW?{. CICRIECEY

RRB JE CBT-1l 28—-08-2019 (evening)
e Johann Dobereiner organized elements in groups called triads.
e John Newland proposed the "Law of octaves" for organizing the elements.

o ST SISRISeR o deal &l e oA Fogl H cTafedd |
o Sl 73 o dcdl T FARTYT el & oIv "3rseeh &7 gd" gediad &
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19. The first and third members of the Dobereiner triad are phosphorus and antimony, the second

member of this triad is-/318T8X 3 & Tgel 3R O TGET FREHRA IR e g, 39
ECTICCGIURI LR S

(a) lodine
(b) Sulphur
(c) Calcium
(d) Arsenic
RRB ALP & Tec. (13-08-18 Shift-1ll)
e Dobereiner identified some groups with three elements that had similar properties.
e He called groups of these three elements triads known as the Dobereiner's triad law.
e According to Dobereiner, the atomic mass of the middle element was equal to the arithmetic
mean of the other two.

o SIS o ofiel dcal dTel $© HHGH I g HT TS¥elh 0T FART U

o 37giel o1 cliel dcal & WHgl 1 Ao gl o STger &l ek gd &hgr S g

o SINIER & AR, ALY ded HT WHY] GeTAT 3 & & AT AL &
e &l

20. Which of the following is the third member of the Dobereiner's triad, which also includes lithium
and sodium?/fAFfaf@a & § 9 I1 SINBA T¥8 F1 T e ¢, oad fdas
iR aifsaw o anfde §2

(a) Potassium /9T TATa

(b) Boron /aRTeT

(c) Barium /SRT#

(d) Hydrogen /E‘IB_QGF-T
RRB ALP & Tec. (13-08-18 Shift-1)

e The Wolfgang Dobereiner's stated that the atomic mass of the middle element is approximately
the average of the atomic mass of the other two elements, when the three elements of the
triplet are placed in

e ascending order of their atomic masses.

e  For example, Lithium, Sodium and Potassium have atomic masses of about 7, 23.0 and 39.0
respectively.

e The atomic mass of sodium between them is approximately the average of the atomic mass of
lithium and potassium. Thus the third element here is potassium.

o dAICHIIT SRS o FgT o ALY Ted oI WRA] geAT 3T & dedl & WA
GSIATST HI 93797 3ad g, 59 B & A deal &l I@T ST &

o 3% OXHTY] e AT ol 3R HA|

o 3eXUT & fav, fafdgs, Qifsas 3R AeRIFH &1 WAT] gegd T HA: 7,23.0 AR
39.0 gl

o 3o ST WESTA FT WA geIAH fARTH 3R AERFH & RA] gegd T HT

ST 3T g1 39 YR TGl dIERT ded GICITA gl

21. What did Dobereiner identify and name a group of three elements? /E?I@TI???!T o el deal &
A @ ggA 3R A 4T @
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(a) Triad ()
(b) Threes 418
(c) tetrad <218

(d) tritium grSfeTa
RRB Group-D 04-12-2018 (Shift-1il)
e Johann Wolfgang Dobereiner, a German scientist. In 1817, he identified some groups with three
elements, which had similar properties.
e He called groups of three elements as triads.
e He stated that by placing the three elements in ascending order of their atomic masses, the
atomic mass of the middle element is the average of the atomic mass of the other two elements.

o Sl dlethilel SIaRIEeR, Teh SToeT dfMiateh| 1817 H 3egial cliel ccal dlel o HegH
I ggTeT T, fSieTeh 0T FAE A

o 3ogidl diiel dedl & HAg @l 3 el

o 3@l @gl [ el dedl @ 3o AT GeIAH & RIS e H WA TR, ALY e
T URA] GeAT 3 & dedl & RAY] GeaAT I AT g 3

22.'When the elements are arranged in increasing order of atomic weights, the atomic weight of the
middle element is approximately the average of the atomic weights of the other two elements' - this
rule is known as-/

‘SIS dedl T ULAY] HR & d6d A H eFAEYd fhar Srar §, ar #LT ded T RA]
HR 3+ &1 dcdl & TRAT] HR H 9reer ad g1 & -39 e #1 &gl e g-
(a) Rule of Mendeleev /H3elid &1 e

(b) Newton's law/sg&sT <hT IGRE:]

(c) Newland's law of octaves /a-q!\d's FT ek AT

(d) Dobereiner's law of triads /é"l@'x"l’g'ﬁl? FT A e

e When the elements are arranged in increasing atomic weights, the atomic weight of the
middle element is approximately the average of the atomic weights of the other two side
elements.

e This rule is called Dobereiner's triple rule.

e  For example, the atomic weight of lithium is 7 and the atomic weight of potassium is 39, so
their average sodium atomic weight is 23, which is between them.

e S dcdl F d¢d WAL] HR H afeyd fham Sirar g, dl AT ded &1 WA HR
3= a1 91ed dcdl & GXATY] 3R T ofa1s7aT AT gielr g

o 3T ATH & SRBR F Ak T Fgr I gl

o 3cEX0T & fAT, fAfdge 1 @A) oR 78 3R Aefge w1 A R 398,
SATIT 37T 3 FIfSTH WA] $R 238, S 37 a B

23. ... Melting point is very low. /......... ECGIC §|§Ff ShH %’I
(a) K

(b) Ga

(c) Na

(d) Ba
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e Gallium (Ga) is a soft and shiny metal with a melting point of 29.76°C, which is extremely low,
its atomic number is 31. It is used to make semiconductors and alloys.

o INTH (Ga) Ush TRA IR THPER oI & TSI TTelelich 29.76°C YT &, S 98c
e B, ST WA Al 31 §| SR IUANT Heerh AR &Y 41 =l &
fow frar e &1

24. Dobereiner made the first observation of........ as a catalyst. /S\Is\lea-N 3RS h FTH

........ FT UgelT 3dallehed fhaT|

RRB Group-D 15-10-2018 (Shift-l)
e It was Dobereiner who first observed platinum (Pt) as a catalyst and discovered similar triads that
led to the development of the periodic table of elements.

e Jg ANBA & & Tl gad ugal Tolfeatdd (W) & 3o & &7 & g@r 3R st
W%ﬁa@r@a@rﬁ@a&ﬁﬁmﬁﬂmﬁwﬁwgyﬂ

25. Who invented the periodic table? /3-113?-‘[ ROl &1 3fashr fhasr fhar
(a) Dmitry Mendeleev /f&f&3T #Hselia

(b) Louis Pasteur/F_I;é' EINEES

(c) Marie Curie /& W‘\ﬂ'

(d) Antoine Lavoisier /TelAT ofalfolux
RRB Group-D 11-10-2018 (Shift-1)
RRB NTPC 25.01.2021 (Shift-1l) Stage Ist
e The periodic table was invented by Mendeleev in 1869 AD. According to Mendeleev's periodic
law, 'the physical and chemical properties of elements are the periodic functions of their atomic
weights.'
e |n mendeleeVv's periodic law element were arrenged on the basis of increasing their atomic mass
in the periodic table.
e The number of known elements at that time of was 63. He divided the periodic table into 9
groups and 7 periods.

o 3ad AROM & IfESHER 1869 §. # AT o Fham ATl Asehd & 3mad A &
3TER, 'deat & #ifae 3 TERfAE T 3 WA HR & 3MEd Heled Bl

o HSAH & e HIH F deal H 3ok WA GedA H defT & YR 9T 3ac
aroft # cgaftyd fhar a=r o

o 39U HHAY WA dedl T HEAT 63 | Iegiel e AROM AT 9 FHEH AR 7 37aat &
faenfara famam

26. Mendeleev's periodic law was based on? / Azl i1 3maa arolt frg ot 3maRa %’
(a) Number of neutrons /o-q‘\g\:llo-l Fr @e

(b) Atomic number /9IHTI] q&ar

(c) Atomic mass /9THTI] GedHATT
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(d) Atomic radius /9YHTIT ear

RRB JE 02.06.2019 (Shift-1)
e Mendeleev's periodic table is based on atomic mass.
e |n 1869, Dmitri Mendeleev included 63 known elements arranged according to increasing atomic

mass.

o HAH T AT TR WA gegAH W MR g

o 1869 H, AT ASeld & Fod WA gedA & IR FGRYT 63 AT dedl @l
fAer fohar|

27. According to Mendeleev's Periodic Law, elements were arranged on the basis of ............ in the

periodictable?/ﬁg?ﬂ'cﬁa?m?‘fﬁma?Wmﬁmﬁaﬁaﬁ ............ & IUR

G IIiEdd fRar I ar?

(a) Increasing atomic number /d&dT IIATIT qEaT
(b) Decreasing atomic number /g&dr I{ATOT &

(c) Decreasing atomic masses /QTFITU;I' AT O¢ W &

(d) Increasing atomic masses /CR?TI'U;F GoTHT H agdﬁT
RRB JE 26.05.2019 (Shift-1V)

28. How many elements were known when Mendeleev began his work? /oIs HSAIT o YT I

YE fhar o fohdel dca a1d a2

(a) 65

(b) 64

(c) 66

(d) 63

RRB Group-D 20-09-2018 (Shift-1il)

e |n 1869, Russian chemist Mendeleev made a periodic table of 63 elements based on atomic
mass. According to Mendeleev's Periodic Law, the physical and chemical properties of elements
are a periodic function of their atomic mass.

e They did not discover the two elements gallium and germanium in 63. Both these elements were
placed under aluminum and silicon. The periodic table created by Mendeleev had 9 groups and 7
periods.

o 1869 H T WA HSelld o WA GedAA & UR W 63 dcdl @ Teh 3Tecl
ARON §A1$| ASelld & JTac A & 376N, dedl & #ifde iR Taafas ot 39
TRATY] GIATT o 3MTacd Bolel ¢

o 38 63F a deal Aformd 3R AT Hir Wi A8 H| 7 AT dear
TogHifars 3R fafasla & i w@r 3 ar| ASA% ganT Fars TS 3ad ol 7
9HAE 3R 7 3madT

29. In the Mendeleev periodic table, gaps were left for undiscovered elements. Which of the

following elements later found a place in the periodic table? /Helld T 3ad EROfT F 3¢y
dear & favw 3icdrer B3 far = o1 Aeafaf@a & & g dcg &1 sig 7 3mad arofr
H T AT

(a) Ge
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(b) F
(c) Ca
(d) Mg
RRB JE 31.05.2019 (Shift-l)
RRB Group-D 22-10-2018 (Shift-l)
e Mendeleev made the periodic table by classifying the elements based on their atomic
weights.
e |n which some places were left blank, although Mendeleev had already predicted their
chemical properties etc.
e Later on, Mendeleev's periodic table arranged the elements based on their atomic numbers,
letter germanium was placed with titanium in the IV group and fourth period.

o HSAH o dedl H 3oTeh WHIU] HN & YR WX Gafichcd Heh el FRON TS|

o S $o wuE # @l 815 e @ o, grelfs Asa | ugd & 3d%
Tt ot 3nfe v srfasaaroh & & o

o ¢ H,ASHT #T 3G RN A Tcal HT 3eTeh ATY] AT & AR T
cgafeyd o I3, SHTATH 31ER &1 Tsead & @y v EAg 3R A9 3rad A
QT |

30. In MendeleeV's periodic table, the vertical columns are called ....... and horizontal rows are called

........ ?/HAZNE T Had GRON F FeaeRw &G A ... AR Sfds 92 & ... FE

ST &2
(a) Period, Row
(b) Group, Period
(c) Column, Category
(d) Column, Row
RRB Group-D 22-09-2018 (Shift-11)
RRB Group-D 27-11-2018 (Shift-111)
e The Russian chemist Mendeleev gave the periodic rule in 1869 according to which 'the physical
and chemical properties of elements are the periodic function of their atomic masses'.
e On this basis, Mendeleev classified all the 63 known elements in the then 7 horizontal rows and
9 vertical columns.
e The horizontal rows are called period and vertical columns are called groups.

o T WA Aol & 1869 H 3ad fovws fear o 3laR ‘deal & Hifaw 3R
TR 0T 3o GAY] GegHT & T Belel &l

o 3T MUR W HeMd o TN 63 AT dcal FI dcbreled 7 &fdst gidaar iR 9 FeaTer
Tt # aafiepa fomam

o SIS Gidddl @l Tad 3R FEaTtr Tl T FHg FeT S gl

31. In MendeleeV's periodic table, the horizontal rows is called .......... ? /HSe% &T 3Tad @R &
gifas afFaat & ... gl AT &7

(a) Unit
(c) Group
(b) Period
(d) Groups
RRB Group-D 20-09-2018 (Shift-1)
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e The horizontal rows of the periodic table are called periods./3-TIT:|T-‘f aroft &1 afaer afFaar
I 3G gl AT ¢ |

32. Between the chemical properties, Mendeleev focused on compounds made with these

elements./TATATAH 3;I'U'I>I' & oI, #ASIT of o1 dcdl F o it W eareT Higa
(a) Carbon and Hydrogen J@eeT 3R E'IES’IGF{

(b) Carbon and Sodium /&TesT 3iX Afsas

(c) Hydrogen and sodium /E'I?'?_QGIFT 3R Aifzge

(d) Hydrogen and oxygen /gT83latel 31X TS
RRB ALP & Tec. (10-08-18 Shift-1)
e Hydrogen and oxygen are reactive elements and form compounds with almost all elements, so
Mendeleev studied the chemical properties of compounds mainly composed of hydrogen and
oxygen.

o gIB3e 3R 3ifFdeer ufafsharefer dca § 3R oemster I3 acar & Iy difee se a9
g, sufaT A3ca & A& w9 § Fsge 3R e & 9 ARH & TEREE
OIS eI TR

33. In MendeleeV's periodic table, the periodic nature of properties of the elements considered on

the basis of....... /ﬂﬁm@r%ﬁr@ﬁﬁﬁ%@aﬁrmﬁ@ﬁasmw
HIAT 317 B

(a) Atomic number/SXATI] qa&ar

(b) Atomic mass /9THTV] GedHTeT

(c) Atomic size /ATHTY] 3HTPR

(d) lonization enthalpy /3TTI=TI0T Tededy
RRB ALP & Tec. (09-08-18 Shift-1)
e |n Mendeleev's periodic table, the properties of elements are considered to be the periodic
nature of their atomic masses.
e According to Mendeleev, "The physical and chemical properties of elements are a periodic
function of their atomic masses."

o FSCN® &Y 3Mac ARON F el & U T 3o THAY] GeAHAT &1 el G Al
S &l

o HSeNd & AR, "dedl & A IR THAAF 0T 37 WA GIAT FT Th
maftes 7§l

34. Who is credited with classifying elements on the basis of their atomic mass?/dcdl &l 3eTh
A GEIAT & 3MUR W WM axat &1 47 fore fGar Jmar &2

(a) Dmitry Mendeleev/f&fa3T #Hsellg

(b) John Dalton /SiTe STeesT

(c) John Alexander Reina Newlands /ST 3TelFoisy J=T o-q‘\ofsj{-l

(d) Johann Wolfgang Dobereiner /STIgTeT alcWhaidl EﬁTIEFIT

RRB ALP & Tec. (17-08-18 Shift-1)
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e Mendeleev is credited with classifying the elements based on their atomic masses.

e |n 1869, Mendeleev proposed a rule, known as the 'Periodic Rule'.

e According to this rule, "the chemical properties, and physical properties of elements are the
periodic functions of their atomic masses."

o HSAT I dAcal I Iofeh WA GeIAT & MUR W FIfiehd A &1 AT fear e
gl

o 1869 H HSIT o Ua FIH yEarad forar, o9 3maf¥is @ae & a1 & ST ST
gl

o 3 fA9H & AR, "dedl & IR IJOT AR e 0T 3ot WA GeqA AT &
3mafis & §1"

35. What did Dmitry Mendeleev prepare? EAGEIRGECICIG RG] R R
(a) Anarchy theory/3RTSTehdr ﬁ'df—ﬂ?f

(b) Periodic table of chemical elements/ATATAe dearl &r 3Tad gRofr

(c) Alpha effect/3Te™l FHTT

(d) Golden intermediate point JEIOT FEITAT 1%@
RRB NTPC 04.04.2016 (Shift-1) Stage Ist
e The periodic table of chemical elements was prepared by Dimitri Mendeleev. In the 19th century,
Russian scientist Dmitri Mendeleev introduced a rule for the comparative study of elements and
their compounds, which is called Mendeleev's periodic law, according to which 'the physical and
chemical properties of elements are the periodic function of their atomic weights'.

o OIS deal HT rEd IRON A Agelid & G @ ANl 19dT wEr & &l
deTfeieh A Asela o dedl 3R 3o AR & JelellcAs 3T & v T
foger aer fona, IS Asa &7 3 @ #er Siar &, s 3R deal & s
3R @A IOT 3eTeh WA R & A Bolel &'

36. Who was the first scientist to make periodic table of elements? /Hﬁﬁ $r 3mad grRof g
arel 9UH dATfeieh diad A?

(a) Henry Moseley /golI #FIFe

(b) Robert Boyle /(¢ STIel

(c) Mendeleev /Hsalid

(d) John Newlands /STfeT Eﬁ?\;ﬁ
RRB NTPC 02.04.2016 (Shift-1) Stage Ist
e Mendeleev was the first scientist to make the periodic table of elements.
e He was a Russian chemist. He made a periodic classification of elements.
e Using this table, he also discovered the properties of the elements, which could not be
discovered till that time. Henry Moseley - Discovery of Atomic Number based periodic table.
e Robert Boyle - Discovering the Gaseous Rule

o JTcdl &I HTdd ARV ST aTel HSell%h Ugel daflieieh Il

o TE TS ®HT WTA | 3e8ia dcdl HI afted gaffaor fham|

o S IR & IYANT &leh Segiad deal o 3o 0N &I o @il H, S 38 AT T
@ISt oAET ST Feh A| gl A - RATI] FEIT MR 3T FRON H @ |
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o aC §ige - AT FAFH 1 @

37. Fill in the blank with the correct option:
"The properties of elements are the periodic functions of their atomic masses". This is the statement

Ter Aded ¥ RaFd TU 71

"dedl & 0T 3eich YRATY] GeFATA o ITAc Bolel &'] T HUA §..oooe..
(a) Dobereiner's Triad RuIe/Eﬁ@TI??FIT Fr I I

(b) Newland's octave Iaw/mﬁ? FI ek AT

(c) Mendeleev's Periodic Law/HSelld T 3Tafee hlelsl

(d) Modern Periodic Law /31T‘E_17'1?-IT=F B ICIBED hlelsl

RRB Group-D 22-09-2018 (Shift-l)
RRB ALP & Tec. (13-08-18 Shift-1ll)
RRB NTPC Stage Ist 30.04.2016 (Shift-l)
"The properties of elements are the periodic function of their atomic mass" This is a
statement of Mendeleev's periodic law.
The first Russian chemist Mendeleev introduced the periodic law and presented the
elements as a table.
According to him, the physical and chemical properties of elements are the periodic function
of their atomic masses.

"Tedl o I[OT 3eTeh YXATY] GedHATT & JTaci Holel & g HSelld o 3Mad &g &
FUT gl

TUH ®HT A ASAT o el Fgd7 gedd fhar AR dcdl &1 v drfler &
T H g |

3eTeh 3TTER, deal & Hifder R TEEAS 0T 3eTeh WATY] Geg AT & JHTaci
Helel gl

38. Name the Russian chemist who proposed that the properties of elements are a periodic function

of their atomic masses?/39 AT THITA HI ATH CRIELN gy yEarfaa f&ar & daal &
I[0T 3eTeh IRATY] Geg AT &l Teh AR HRT §?

(a) Markovnikov /ATehfafaera

(b) Zalinsky /STTTeiEehr

(c) Mendeleev /Al

(d) Zaitsev /oiaad

RRB ALP & Tec. (14-08-18 Shift-1)
T TR GfAAT HSelld (1834 - 1907) AT STHA IHTTT AldX AIX (1830-1895)
& FA T & Herka®y a-aRoT & G F Fheldr 9o §51
As a result of the continuous efforts of Russian chemist Dmitri Mendeleev (1834-1907) and

German chemist Lothar Mayer (1830-1895), success was achieved in the development of the
periodic table.

39. Mendeleev's periodic law states that the properties of elements are the periodic function of

their JHASENE T 3Tad [@gH Fgcm ¢ & deal & o1 3 F 3Tad Bl &l
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(a) Metal /?-TIT:I:'
(b) Non-metal /ﬂT—iﬂg
(c) Atomic number /9IATI] FEar

(d) Atomic masses /9THTU] GedHTeT

RRB JE CBT-1l 29-08-2019 (evening)
The properties of elements are periodic functions of their atomicity.
The properties of elements are periodic functions of their atomic masses.

cedl & I[OT Sofehl TRATUAT & 3HTacl Bolel B o
cedl & 0T 3eTeh TRATY] GeAATT & el Holel I 3l

40. Which of the following elements could not find a definite position in Mendeleev's periodic
table?/fAF1TaIT@d & ¥ T AT ded ASe® T AGd ARON 7 T HiRgad v g7 o1
Henl?

(a) Sulphur /eI

(b) Oxygen /3TTeF&STol

(c) Hydrogen /gTSaIoTeT

(d) Nitrogen /sTTS¢ITeT

RRB Group-D 19-09-2018 (Shift-1)
e |n Mendeleev's periodic table, hydrogen is placed at two places due to their similar positive
properties with alkali metals in the first group (I-group) and their similar negative-
electronegative properties with halogens in the seventh group (VII-group). is kept.
e But placing hydrogen in both groups (first and seventh) is defective.

o HSONH & AT ARCT H, Tgel THAG (-6HF) A &R UT3il & Y 3oish HAA
FhRIcHS 0N 3R AT A (VI-THE) H gelloled & WY 3olch HATT APRIcHD-
goldreledlied UM & HROT IFglolal I & T W I@T 14T §| @M a4 gl

o fheT ETSZITT AT Al gl (Teel 3 ATad) H T@err aroet g

before the nickel? /HSolid hr 3ad grRof ﬁ,ﬁﬂw_ﬁ q

41. In Mendeleev's periodic table,

RRB Group-D 04-10-2018 (Shift-1)
e |n Mendeleev's periodic table, the Cobalt appears before from Nickel.

o HMT & AT GRON H FieTee PAFT  Ugd AT B

42. The classification of elements by which of the following leads to the discovery of new

eIements?/ﬁﬁﬁ'@HﬁﬁWﬂ?ﬂTHﬁﬁ?H?ﬁ?ﬂWﬁﬂﬁaﬁﬁﬁ'@ﬁ@?ﬁ'%‘?
(a) Henry Moseley /golI #FIFe

(b) John Newlands /STfeT Eﬁ?\;ﬁ

(c) D.I. Mendeleev /E?f.}ﬂ'é. HAsollg
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(d) J.W. Dobereiner /GT.SGMJC\. EICRIEGES

e Atotal number of 118 elements are currently known.

e Mendeleev has been a major contributor to the classification of elements.

e Mendeleev successfully classified new elements for the first time on the basis of their
properties.

e The classification of elements by Mendeleev is called the periodic table of Mendeleev.

e Mendeleev left spaces in his periodic table for some yet undiscovered elements, which
inspired the discovery of new elements.

o TAAA H FHel 118 dedl T T&IT AT Bl

o dcal & gaffentor & ASelid &1 YH@ ITer & Bl

o HSNH & Ygell IR o4 dcal AT 3oTeh UM & AR TR Fheldqaeh dafichel fohar|

o #HZ% GaRT dcdl & GfeUT I HSellh I HTad AROMN Hgl ST B

o H3AT F N AT RN H Fo I dcdl F v e o, o Jv dedt
T @ieT @ 9RO Al

43. In Mendeleev's periodic table, in what order were the elements arranged?/ﬁ@?ﬁ'q'? $r 3Tad
RO F dedl & 7l A # gafeyd fhar a=m ar

(a) In increasing order of atomic masses/tR?qTU;f SSTAT & dod $H H

(b) In decreasing order of atomic masses /tﬂTlTU;I' SSTATT & ged A H

(c) In increasing order of atomic numbers/tlﬂ:lTU;l' HHAS & dod HH H

(d) Decreasing order of atomic numbers /W'U;f EIT T "edl HH
RRB Group-D 26-10-2018 (Shift-il)
e Russian scientist Dmitry Mendeleev arranged the elements in the periodic table in increasing
order of their atomic masses.

o &I Mioen QA ASelg & e ARCT # dcdl 1 3o WA] gegd T &
9o HH # cafeua R

44. In Mendeleev's periodic table, which of the following group of elements later found a place in the

table? /A=Sellth &I 3Tad HROM # fe=ifef@d # ¥ fhd FHg & dedl & a1 H drferer

H TU A
(a) Sc, Gaand Ca
(b) Sc, Ga and Ge
(c) Sc, Ga and Mg
(d) Sc, Ga and Na
RRB Group-D 16-10-2018 (Shift-1)
o Mendeleev had left some places blank in his periodic table. Instead of seeing these spaces as
faults, Mendeleev
o firmly predicted the existence of some elements that were not known until that time. Later,
in the periodic table of Mendeleev, the elements Sc (scandium), Ga (gallium) and Ge
(germanium) were replaced.

o HSAH o A AT AR H FT T Trell Bl 6 I g7 TUE 1 QW F
T FH T & I, Helld
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o PO dcdl & HRcdcd I Todl § HiasTaoh &I 75 S 30 THI o A et I
dI¢ # HIoh ST ad RO H Sc (FH3a#), Ga (Aferad) 3R Ge (S@T#) dcar
ar gfaraiad & fear a3

45. Mendeleev's Periodic Table in Was published in a German magazine. JHSla Hr 3Mad
gRoft U STHe IR A YR g5 o]

(a) 1874
(b) 1873
(c) 1871
(d) 1872
RRB Group-D 03-10-2018 (Shift-il)
e The first classification of elements was done by the Russian scientist Mendeleev (1869),
which was published in a German magazine in the year 1872.
e According to Mendeleev, the properties of elements are the periodic function of their atomic
weights.

o dcdl & TUH FITRIUT FHI dATh H3olld (1869) a7 fhaT o, 5 a¥ 1872 H U+
aﬁﬂqﬁwﬁw‘fﬂﬁg}nml
o el & AR, deal & I[OT 3o9eh TWAY] HR & HTach Bolel g

46. Which of the following elements replaces eka- aluminium in Mandeleev's periodic table?
[FAFATATET # & i & Ted AS® Sl ATad FROT 7 SHT-TegHTA &1 gfdeaiad
AT 82

(a) scandium /TH3ITH

(b) gallium/3foras

(c) Titanium /e8¢ faae

(d) Germanium /STH AT

RRB ALP & Tec. (14-08-18 Shift-II)

e When Mendeleev's periodic table was published, the elements gallium and germanium
were not discovered.

e They left a blank space under aluminium and silicon, and placed these elements as eka
aluminium and eka silicon.

e Mendeleev not only predicted the element gallium and germanium, but also listed the
expected properties and experimental properties of these elements in the table.

e Hence gallium element replaces eca- Aluminium in mendeleev periodic table.

o ¥ #Selg N Had AROM TR g%, O Afergwr IR FHAATA Tt Hr Tier o
gs Y|

. I TepEREE 3R R ¥ A v G S o &, 3K o adt @
SehT TogAITarad 3N Sor faforlsl & &9 & @l

o HAINT F F dhaa Mo 3R FHRTH Teg v gfgsyah f, sfed s daal &
et IOt 3R gAeTeHAE Uit @ arfoer 7 gaeey |

o AU A deg Aseld 3ad GROT A SHT-TATHIA T T o g
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47. Which of the following elements replaces eka- Silicon in Mandeleev's periodic table?
[AFafaf@a # & HiaT @ deg ASeldw HT 3ad ARV F Tar - Ao &
EIGIRIECEC RGN

(a) scandium /TH3ITH

(b) gallium/3for s

(c) Titanium /e8¢ faae

(d) Germanium /STH T

48. Which of the following elements replaces eka- Boron in Mandeleev's periodic table?
[AFAfaf@d # & FlT @1 ded #ASw HI Had AROT H TH - SR A gfaeaig
AT 82

(a) scandium /TH3ITH

(b) gallium/3for s

(c) Titanium /eI faae

(d) Germanium /STHATH

49. In the modern periodic table, the elements are arranged:/ﬁ%ﬁﬁ# 3mad RO # dcat @
38 YR Fafeyd fear @ &
(a) In decreasing order of atomic mass/fIW'U;l' GO & gcd $hel H

(b) In increasing order of atomic mass /CR?:lTU;I' GeTATT & S6d e H
(c) In increasing order of atomic numbers /CR?ITUI HHS & Fod HH H

(d) Decreasing order of atomic numbers /W'U;f EIT T "edl HH
RRB ALP & Tec. (13-08-18 Shift-II)
RRB ALP & Tec. (14-08-18 Shift-1ll)
e According to the modern periodic table, the physical and chemical properties of an element
are the periodic functions of their atomic numbers.
e Based on this rule, the elements in the periodic table are placed based on their increasing
atomic number, while Mendeleev placed the elements in their periodic table in increasing
order of atomic masses.

o 3MYAH 3Tad TRUN & AR, fhely dea & #fifas 3R TEEfaw ot 3%
WRATY] AT & ITacl Bolel BId &

o 3U AUA & YR W, 3Had AR H dcdl T 3eich Fed TATY] shafih & YR
W @M ST g, STafeh HSelh & deal I 3eTehl 3Mac WRON H GRA] GegA &
Sod A F @ AT

48. Na, Mg, Al, Si, P, S, Cl And Ar are related to ......... period of modern periodic table. /Na, Mg, Al, Si,

P, S, CI 3R Ar 3TYfaish et arRol & ... 3ad & |@efed g

(a) Second
(b) Fourth
(c) Third
(d)F
RRB JE 26.05.2019 (Shift-1ll)
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e Na, Mg, Al, Si, P, S, Cl And Ar are related to the third period of the modern periodic table.

e Na, Mg, Al Si,P,S, CI 3R Ar 3Mefater 3Tac AROM & IR 3mac & Hefed gl

49. Elements in the modern Periodic Table are arranged in vertical columns. /HT@EF

3Tad ROt H dear &l FEATR TIAT A cgafeyd fomar s g
(a) 18
(b) 16
(c)9
(d)12
RRB NTPC 09.01.2021 (Shift-1) Stage Ist
As per the Modern Periodic table, its divided into 18 groups and 7 periods.
The elements have been classified into different categories such as metal, non- metals etc.

3mefeh e AR & 3TAR, 38 18 gl 3R 7 3Madt & fqenfora fohar g
dedl @ faffes AT SRy urg, g 3nfe 7 Feffed Rear g

50. The Modern Periodic Table is basedon __ of the elements. /HT%'@I?F 3mad @Rl -
deal 9X 3merRa gl

(a) Equivalent Weight /WF;I,FZI' X

(b) Valency/ TITsTehdr

(c) Atomic Mass /EIW'UI G HATA

(d) Atomic Number /93HTI] q&r
RRB NTPC 22.01.2021 (Shift-1) Stage Ist
e Inthe modern periodic table the elements have been placed on the basis of their respective
atomic number.
e |t contains 18 groups and 7 periods. In any particular group of a periodic table, the number
of electrons present in its outermost shell is same with reference to all other elements.

o MM AT RO & dedl H 3eTch HeT GAY] heATeh & AN G @ I4T7
gl

o 3HH 18WHE 3R 73T A &1 AT FRON & R AT T A, 380 TId
STEd A H HAlGE Selaciall HT HE&AT 3F W deal & HedT H A gl B

51. In Mendeleev’s Periodic Table, gaps were left for the elements to be discovered later. Which of
the following elements found a place in the Periodic Table later?

H ol I ITdd ARUN H &6 H @it STe1 aTel dedl o Tt 3icdirer o3 f&ar arar or| farafafaa #
A T8 dea &1 16 3 3Tad IR # U1+ fHe?

(a) Chlorine /FaRIT

(b) Silicon /faferaTe

(c) Oxygen /3TTerdIeTeT

(d) Germanium /STH T

Sol- Germanium(Ge):
e The atomic number is 32./ WTU;I'W 32 %‘I
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e Germanium is most widely used as a Semiconductor./ STH AT T IR T F AHhSF T
9 7 39T fRar Arar g

e Germanium is used in transistors and in integrated circuits./TTFJE‘I'T?I'SFJ:TEh'r3'C|'<’3I>I?T§'i'%ﬁ%T31\]'\r
TehTehel TRTUT F fohaT ST S |

e Germanium is also used as an alloying agent./aﬁﬁmwmfﬁwq?mﬁaﬂ%m
STaTg |

e Eka-silicon is known as Germanium./ Tehl-FATAeRT Sl THRITH & 17 T STAT ST %’I

52. An atom of an element has the electronic configuration 2,8,2. To which group does it belong?

Tl Tear & AT T SoleiToioh [d=aTH 2,8,2 BIcT & | T Tohd Hofg @ HeaTeI &2
a)2,3
b) 4, 3
c)2,1
d) 3,2

Sol- Element with electronic configuration 2,8,2 belongs to 3rd period and 2nd group.
The valence electrons give us the idea of group numbers.
As the electrons are divided into 3 different shell therefore the period number is 3.

2,8,2 SACI{o1eh (4 ATH aTelT ced AR 3Tad 3R gH HHg & |
ATl Setrclel g Hag HEATHT 1 FAaR S B
T Setarelell sl 3 3TeTT-37e1T hiRlt 7 fFenfare famar Sar &, safere snad gear 3 g 81

53. The arrangement of elements in the Modern Periodic Table is based on their
3mefoten 3erc ARON & Teal & s AT oTeh IR 3R &

(a) increasing atomic mass in the period /mﬁwmam

(b) increasing atomic number in the horizontal rows /ﬂﬁad%ﬁﬁwmm
(c) increasing atomic number in the vertical columns /maﬁmwsﬁ#qwugmm
(d) increasing atomic mass in the group /Hﬂgﬁwmﬂm

Sol- In the modern periodic table, the elements are arranged in the increasing order of their atomic
number.

This arrangement is based on the modern periodic law, which states that the properties of elements
are a periodic function of their atomic numbers.

3megfoieh 3TaeT ARON & Teal T 3eTeh IATV] AT oh Gl v H ST [haT ST B |
Ig SHAEYT 3T feleh 3Tt et o el 8, TSrest avgr a1 & foh cfedl oh 9[0T 3eTeh IRATI]
ST o 3] Bl Bl ¢ |

54. Where would you locate the element with electronic configuration 2, 8 in the Modern Periodic
Table?

3MeIfoleh 3TaeT ARUN & 319 Selergifoleh Td=aT4 2, 8 Tel Ted I &gl IITaT?
(a) Group 8

(b) Group 2

(c) Group 18

(d) Group 10
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Sol- The element with electronic configuration 2, 8 has a complete octet. Therefore, it is a noble gas.
It will be found in group 18 with all the other noble gases.

goldrelioleh [d-aTy 2, 8 Aol Tcd T UT 31SCeh Bl & | SHTAIT, Ig Teh 3choe I & | Ig TH 18 H
317 il Scohse 4T & @y A

55. Element ‘X’ forms a chloride with the formula XCI2, which is a solid with high melting point. X
would most likely be in the same group of the periodic table as:

dcd X' A XCI2 & AT Fel1$8 T &, Sil 3T elelich aTell Teh I 81T & | X A 31Teeh

HHTAAT 3Tt AROT o Teh &1 THg H g1
(a) Si

(b) Mg

(c) Al

(d) Na

Sol- As an element, X forms a chloride with the formula XCI2, which is solid with a high melting point.
X would most likely be in the same group of Mg.

T cIcd & &9 H, X FI XCI2 &A1Y Th FARTSS ToATcT &, 511 Teh 3¢ Iclstieh & A ST 81T X
T 3118 Mg o Teh 1 Heg H g

56. Carbon belongs to the second period and Group 14. Silicon belongs to the third period and Group
14. If atomic number of carbon is 6, the atomic number of silicon is

et T 3ate 3R TE 14 @ Gafd ¢ Rafeers dradr safer ik v 14 a wefa gl afg
ShTeTaT T GXATU] HEAT 6 8, il FATelehleT T TRATU] HEAT &

(a) 7

(b) 14

(c) 24

(d) 16

Sol- Carbon belongs to the second period and Group 14. Silicon belongs to the third period and
Group 14. If the atomic number of carbon is 6, the atomic number of silicon is 14.

ShIelaT GE 3TTarct 3R a4 14 1 8| FATeIhieT AR 37Taret &7 & 3R a9 14 18| ATE et T IRATI]
ST 6 8, AT A TelehleT T TRATU] shiTeh 14 B |

57. What is the atomic number of element of period 3 and group 17 of the Periodic Table?

3TereT RO & 3Tarel 3 3R TG 17 o clcal bl TATY] shafieh FT &2
(a) 10
(b) 4
(c)17
(d) 21

Sol-The Element present in third period and seventeenth group of the periodic table is Chlorine
Atomic number of Chlorine is 17.

31Tae AR & A 3mad R waEd deg A 3ufId dea FelllT &
Foll{ieT T GATI] HEAT 17 8|
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58. The elements A, B and C belong to groups 1, 14 and 17 respectively of the Periodic Table. Which
two elements will form ionic compound?

dea T, & 3 3ract @RON & A @og 1, 14 3R 17 @ T €1 et &Y dfed 3mafaes
I Aes FaATTar?

(a)Aand B

(b) Aand C

(c)Band C
(d) None

Sol- B and C will form a covalent compound since both are non-metals.

A and C will form an ionic compound since A is alkali metal and C is non-metal.
B 31 C T HgEdtorah Alfateh SATear ifen gt e 2

A AR C 3maiaren FifeTen ST arifeh A &TR &1 & 3R C 3T B

59. An element X from group 2 of the Periodic Table reacts with Y from group 17 to form a
compound. Give the formula of the compound.

3Tt AROM & HHE 2 A Teh ded X Fg 17 W Y & 6y fafenan atas vah Qiffies sarar g1 aifas
EAREREI

(a) XY2
(b) XY
(c) X2y
(d) (XY)2

60. A metal ‘M’ is in the first group of the Periodic Table. What will be the formula of its oxide?
Teh 7] "M’ 3Tdc] AROT & gl HHE A & | SHb JHIFATSS T G AT GIIM?

(a) MO

(b) M20

(C) m203

(d) MO2

Sol- First group of the periodic table is mainly known as alkali metals and they have valency =1 and
oxide with the valency =2 so the formula of oxide would be M20.

3Teret AU o Tgel HHE I HET T § &R T3 o & F AT STl & 3R IeTehl HATeTehell = 1
AR HIFATSS T HASThT = 2 Il &, FHTAT HTFATSS H FF M20 §raT|

61. Name the neutral atom in the Periodic Table which has the same number of electrons as K+ and
Cl-.

3Tere ARON F 3H TSEY GLATI] &1 ATH SIS T TTHH K+ 3R Cl- & FHT Fetarelal hl F&ATg |
(a) Helium

(b) Argon

(c) Neon

(d) Krypton

Sol- Atomic number of K is 19 and after losing one electron it becomes K+ so number of electron
becomes 18

Cl atomic number is 17 after gain of one electron it will have 18 electrons.

In periodic table neutral atom Argon has atomic number 18 i.e. 18 electrons
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K 2T TREATI] HEAT 19 & 3R Teh SeleFelel Tiat oh S1G Tg K+ BT STl & SATIT Solerciol chl HT 18 .
HIEIGIN

CI IRATO] ShaHTeh 17 §, Teh Solehelel HTocl el IR SEH 18 Felargiol gial |

3TereT RN & T RAT] 3TeeT T GATV] shafieh 18 AT 18 FAFCI BT &

62. An element X has mass number 40 and contains 21 neutrons in its atom. To which group of the
Periodic Table does it belong?

Teh clcd X 3T GedHTe HET 40 § 3R S8 IRATI] A 21 =4I+ ¢ | I§ 37Tacl AROM & ohe THg 4
e 2

(a) Group 1

(b) Group 4

(c) Group 2

(d) Group 3

Sol- An element X having mass number 40 and contains 21 neutrons in its atom belongs to group 1
(2,8,8,1).

Teh clcd X TSTEehT Sed#Tet TEAT 40 § HR 58 AT # 21 7J¢ieT &, THg 1(2,8,8,1) H A E |

63. Which of the following set of elements are written in order of their increasing metallic character?

TAFATITET # & cedl &7 st | HHE 3oleh d6d UTfcash TR & A A fa@r AT g?
(a) NaLiK

(b)cQN

(c) Mg Al Si

(d) Be Mg Ca

Sol- The metallic character of an element increases as we move down along the group in the periodic
table. Thus the correct order of metallic character is Be<Mg<Ca.
Also the metallic character decreases along the period.

3Tee AR H FHE o (& el Siled O fehdlY e ohT ETfedeh (0T 96l & | $H TR eTfeaeh ot
T TG v Be<Mg<Ca gl
| Y eTfeaeh 0T ATae & | ged A ¢

64. The atom of an element has electronic con-figuration 2, 8, 7. To which of the following elements
would it be chemically similar?

Tl Tear & AT T Soleeiieieh w14 2, 8, 7 81T & | AT &9 & Tg fe=tioiad & & foha
dcd o GHTT gIa?

(a) N(7)

(b) P(15)

(c) Na(11)

(d) F(9)

Sol-
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The number of electrons present in an atom is
= 2+8+7=17.
Therefore, the atomic number of this element is 17 and the element is chlorine.

Cl(Z =17) = 1s? 252 2p® 352 3p°

It would be chemically similar to F(9) with configuration as 2, 7.
Electronic configuration of Fluorine is,

F(Z=9)=1s%2s%2p°

65. Which of the following is the most reactive element of the group 17?

TAFATITE T 7 & et 6T HHg 17 T HIH 3T TicATshareiier ded 82
a) Oxygen /37TargoleT

b) Sodium /aifsad

c) Fluorine JFAT

d) Magnesium /&3

Sol- Fluorine is a most reactive element in group 17 because of its small size and high
electronegativity by which it accepts electrons easily and forms a bond with another element.

FelI{IeT 3101 BIC TR 3R 3T faeT el FUTcHDAT & HROT HHE 17 H G 3iferes glcifshaneier
dea & TS ST T8 3THTET 8 Solerelell sl FahR Hdl & 3 G ded & AT Teh e Fellll
gl

66. Which of the following is the correct order of the atomic radii of the elements oxygen, fluorine
and nitrogen?

T # & hleT | cea JHTeReoled, Folldlel A ASEIST o IRATI] AT 1 FeT hAH o2
a)O<F<N
b)N<F<O
c)O<N<F
d)F<O<N

Sol- The increasing order of the atomic radii of oxygen, fluorine and nitrogen is

fluorine < oxygen < nitrogen.

This is because the atomic radius decreases from left to right in a period.

HTerETSTeT, FellieT 3 ATSEISTeT I TRATY] 35T T 6T A ©
fluorine < oxygen < nitrogen.

U1 SEFAT B Fifeh et F AT 2T o1¢ A &0 gech S & |

67. What happens to the electropositive character of elements on moving from left to right in a
periodic table?

3TereT RN & o710 & &TT ST O Al oh faeg el eeilcaeh J[0T &l &1 BIcll &2
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a) Increase /agﬁr

b) Decreases /gedT &

c) First increases then decreases /q%ﬁram%fﬁv‘{m%
d) First decreases then increases /EI%@I' gcdl %cho('“ %}

Sol- On moving from left to right in a period, the electropositive character decreases as the tendency
to lose electrons decreases.

3Teret # 91 A SR el O fae gl Uatiedeh (0T & 81 STTcll & FaiTeh Selerelail &bl Wiet hT Jgfel v
HRCIGIES

68. On moving from left to right in a period of the periodic table, the size of the atom:
3MTac TR0 & AT H 918 A & Sfed IR IRAT] T AN

(a) increases /Ela?ﬁ'%'

(b) decreases /& &I ST &

(c) does not change appreciably /9ITcd 9 & FAgT SceldT &

(d) first decreases and then increases /mm%ﬁ?{m%

Sol- On moving from left to right in a period, the atomic size decreases as the atomic number (i.e.,
the number of protons and electrons) increases but the number of shells remain the same.

3Tarel 7 S8 § S8 SATel I SRATY] shaleh (ATeAT eled A Solercial &l HET) Tga1 T IRHATY] HTHR
e BT STAT & oA foheT hIRAT T T&IAT TATH BT &

69. Which group elements are called transition metals?
hisT & Feg e HshHUT T hgelld o2

a) Group number 1 to 2 /WE@@T 192

b) Group number 13 to 18 /wﬂw 13918

c) Group number 3 to 12 /WWT 3T 12

d) Group number 1to 8 /WE@@T 198

Sol- Transition elements have following properties:/ Waa’rﬁﬁmﬁr@m;mm%

(a) They are good conductors of heat and electricity./ g 31T 3R foerelt & 3= Gargs & |

(b) They can be hammered or bent into shape easily./ ﬁmﬁﬁm#wmm%m
3ThR & GHTAT ST Hehell ¢ |

(c) They have high melting points (but mercury is liquid at room temperature)./ 3T 3 [Ueclel
faig & (fehet IRT AR & ATIHATT R R &) |

(d) They are usually hard and tough./ & 3TTHAR W HideT IR FfeTgId &l

(e) They have high densities./ mmmm%l

70. The electronic configuration of an element M is 2, 8, 4. In modern periodic table, the element M
is placed in

Teh clcd M &l Solarciioieh Tded14T 2, 8, 4 B | 3T{eIeh 37Tarc AROM &, ded M &1 H [W1I=TE
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a) 4th group

b) 2nd group
c) 14th group
d) 18th group

Sol- The given element's electronic configuration is 2, 8, 4. This means that there are 14 electrons in
this element. (a) The element belongs to the 3rd period and 14th group. (b) The element is Silicon

(Si)./ T&T ITT dca &1 SlgelToleh [T 2, 8, 4 & | ST 3T ¢ P sH dca & 14 SelaeiT & | (V) dca
e 3rafer 3R 14 § o @ HafRIa €1 () dea Raferele (@) g1

71. Which of the following elements has 2 shells and both are completely filled?
fArfefad 7 & ford dea 7 2 Ier g 3R gl P ETH M gUE?

a) Helium /?Iﬁ?’ilﬂ'

b) Neon /ﬁ?ﬁ?f

¢) Calcium /& ToRR—IA

d) Boron /aRIsT

Sol- Neon is the only element with two shells and both of them completely filled.

foleT TehATT VAT Aca § foreh ar sh1er 8 iR gl §T T s 9 & ﬂ?g‘(’%l

72. The image shows an element with its atomic number and mass number./ &1d Ueh dcd &l 3Hh

U] hoTeh 3R SeT AT HEAT & A fe@reh 1|

15
P

Phosphorus
31.0

Which option arranges the element in the periodic table?/ it a1 fashed 3mad ROl 7 dca i
SITREYT FRAT &2

a) group — 1; period - 1
b) group — 5; period — 3
c) group — 10; period — 1
d) group — 15; period — 3

73. Boron is a non-metal and is placed under group 13 and period 2. How can boron form bonds with
other elements?

IRTeT Teh 3T & 3R 58 FoYg 13 3T 3MTeweT 2 oh 37Tl T 741 § | ARIoT 37 cleal & AT o hay
AT Ghll 7

a) by sharing 5 electrons /5 Wﬂ’faﬁmw

b) by sharing 3 electrons /3 sﬁaﬁa’rﬁmmﬂ:

c) by sharing 2 electrons /2 $<>\1<=kg:|’o-|i ﬁ(—llsdl h{eh

d) by sharing 1 electron /1 SoiFcleT ATST ik
Sol-A boron atom only has 3 electrons in its outer level, and there is no possibility of it reaching a
noble gas structure by simple sharing of electrons. Hence, Boron donates the lone pair of electrons

to form the fourth bond.
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Teh SRIeT AT & ST T T Hhael 3 Selareiel 8l 6, AN Selarciall & AIURUT SR § Tg Ueh
3cHST I T e Tg Tl $I IS THTTAT AT ¢ | STTAT, IRTA TIAT T TATe S TIT SelFelall
T 37hell SATST &TeT T & |

74. 14 elements after actinium is called

UTre o1 o 91 14 dcd Fgolld &
a. Lanthanides/oi =183
b. Actinides /UTFcaATSSH

c. D-block elements /SY-selleh dcd
d. P block elements /9 selfeh ded

Sol- Actinides: 14 elements present after element actinium (Ac) are called actinides.

TS H: ded Tideiaid# (THT) & TG Alg 14 dcd UFeaS5d hgdld & |

75. The group number and period number respectively of an element with atomic number 8 is.
UATY] shHTeh 8 ATel dcd ohl shel: HHE HEAT 3R Tl H&AT g |

a.6,2

b. 16,2

c.6,8

d. 16,4

Sol- The group number and number of an element with atomic number 8 are 16 and 2 respectively.
The periodic table consists of 7 periods and 18 groups. The vertical columns are called Groups and
the horizontal rows are called Periods.

UHATY] ShaHieh 8 Aol dcd ol Helg Tl A HEAT HA: 16 3 2 8| 3acd RO 7 7 37aret 3 18
HE ¢ | SEATER TAHT I G el STl ¢ 3R &8st dferdail sl el gl ST g |

76. An element belongs to period 2 and group 2 the number of valence electrons in the atoms of this
element is.

Teh cled 37Tacl 2 3T & 3R THE 2 H 38 clcd & TRATILHT H HhSTehcl Seldciall sl FEATE |
a.2
b. 4
c.3
d.1

Sol- Period/ 3ad =2

Group/ HHg =2

Element/ dcd =Be4

Electronic configuration/ sﬁa—‘g‘fﬁaxﬁm of Be=2,2

Therefore No. of valence electrons/ 37cT: HATSTehdl séckg,Td\i $r g&ar =2

77. In the third period of the periodic table the element having smallest size is
3Tad AROY & AR 3T F TaH BIET 3R aTell ded &

(a) Na

(b) Ar
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(c) CI
(d) Si

Sol-Argon (Ar) is present in the last period of the periodic table, which has the smallest atomic
radius.

31T (Ar) 31Tact AROM o 31 31Tarct 7 3UTEU gl &, foraeh! o] Bsar qad sIer gl g

78. Electronic configuration of Al*3

Al*® T SolFeifeleh [QedTH
(a) 2,83
(b) 2,8,8
(c) 2,8
(d) 2,8,8,3

Sol- The arrangement of electrons in different energy levels around a nucleus is called electronic
configuration. The periodicity in properties of elements in any group is due to repetition in the same
valence shell electronic configuration after a certain gap of atomic numbers such as 2, 8, 8, 18, 18,
32.

The atomic number of Al is 13 and its electronic configuration is 2,8,3. So, the electronic
configuration of Al 3+ is 2,8.

Teh ATTRE & IR AR ARt FAT TR0 7 SelFeiall I STaEUT Tl el edeh [AedTH gl ATl o |
forelt it Fagg & cTedl oh IO T JATACTT 2, 8, 8, 18, 18, 32 SIA YIHTV] ShHAThI oh Ueh A TRE 3eRTer
o S1E FHTT HATSTohT AeT Solre i ioieh TdegE H JoRIg T o HROTEI ¢ |

Al ST TATT] heTeh 13 & 3R SHRT Solereifeleh [dod1e 2,8,3 &1 37cT: Al 3+ I Solerelioleh [d-aTd 2,8
gl

79. Which is not true about the noble gases?
siterel 31T & SR H Dot AT AT 7181 8?2
(a) They are non metallic in nature /awﬁrsfrmgr%
(b) They exist in atomic form /3WTUIWﬁ'Fﬁ3@'%
(c) They are radioactive in nature /al;lﬁcﬁﬁm%
(d) Xenon is the most reactive among these /Sﬂﬁﬁmﬂﬂmmmﬂﬁﬁ%

Sol- Noble gases are not radioactive in nature.
They are non-metallic, exist in atomic form and the most reactive noble gas is Xenon.

3 3 wptar 7 WSt 7t gl €1
g 3rerTfeaeh 8, TRATY] &9 A Fivfe § 3R Fad 31fee glafhaniier #gme S wdieT=1 g |

80. Identify the wrong sequence of the elements in a group
Teh HHg H ccal & el ha &l Tglel i

(a) Ca, Br, Ba

(b) Cu, Au, Ag

(c) N,P, As

(d) Cl, Br, |
Sol-
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) Cal20) < Sx(38) < Bals¢)
(®) cul23) ¢ Au(?) > A«am)
€&y N{7) < pPli1s) ¢ As (33)
()« 7)) < Bx(35) < I (53)
T g sepnce s @)

8o, (o) Ju +he J.uw i

81. An element with atomic number will form a basic oxide

URHATU] hTeh ATeAT cled Ueh &TReh HIFHISS STl &
(a) 7
(b) 17
(c) 20
(d) 6
Sol-
So element with Atomic number 20 (Calcium) having configuration 2, 8, 8, 2 is Metal and it will form
a Basic oxide.

312 2, 8, 8, 2 % TA=IIE dTel TLATU] ShéATeh 20 (HTeUTH) AT cled €T & R T§ Ueh &R
3TFAISS §ATTaT |

82. Which one of the following elements is considered as a 'micronutrient’ in plants?
eI & & fohe oea T il & 'Fea G AT STl 872

(a) P

(b) Mg

(c) Ca

(d) Zn
Sol- Micronutrients or trace elements are needed in very small amounts.

- These include iron, manganese (Mn), copper (Cu), molybdenum (Mo), zinc, boron, chlorine and
nickel.

e AT TFedl AT CH el T FEl HA AT H ATTRIH] grargl
- SoTo olgT, H9TeST (Mn), TS (Cu), AT (Mo), STEAT, SRT, Feikie 3R At A &

83. In which group of the modern periodic table are halogens placed?
3megfareh 3iTacl WROM o fohe Tagg A gellolel T T E?

(a) 16th

(b) 17th

(c) 18th

(d) 19th
Sol-
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Number of
Group | Common | electrons for
number name bonding
Alkali
1 metals 1
Alkaline
earth
2 metals 2
Crystalloge
14 ns 4
15 Pnictogens 5
16 Chalcogens 6
17 Halogens 7
Noble
18 gases 8

84. Elements of 2nd period are known as
&fad 31Tad & dcal I gl STl 6=
(a) Typical element /fafrse aca
(b) Bridge element /ﬂ?—oraﬁ'
(c) Transitional element /HsheUTRIelIoT cIcd
(d) Normal element /HTHCT dcd

Sol- Elements of the lind period are known as Bridge elements.

cidciTg 3Tecl o cledl T ] cled gl ST & |

85. The most electropositive halogen is

Faere faegd YallcH gollole &
(a) F
(b) Cl
(c) Br
(d) |

Sol- lodine is the least reactive and the most electropositive halogen. It tends to lose electrons and
form positive ions during chemical reactions.

IS T8 e FictTsharelier 3R Fad 31T fdegd eeese gellole ¢ | Ig Tara =i
gfafsrarsit & g1 soiaeial & @ a1 § 3R TPRIcHS 3 SATdT 8

86. Modern periodic law was given by-
M@%mﬁmmmmm -
(a) Dalton /STeCel
(b) Mendeleev /Hsella

(c) Dobereiner /3RS
(d) Mosley /HTET

Sol- In 1869, Dmitri Mendeleev and Lothar Meyer established the periodic law independently.
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1869 #, TSI AS ol 3R SR AT A Tac T & U Tafich dhleeT hi TATTAT I |

87. Which of the following is not a metalloid?
frafofed & & #ia-ar 3utng 78 7

(a) Silicon /fAforpraT

(b) Germanium /ST fazrer

(c) Arsenic /3T

(d) Tin /fesT

Sol- Tin is not a metalloid. While others, i.e., silicon, germanium, and arsenic are metalloids.

et Teh 3utrq] w7ET B | STelfeh 31, It RAforehiat, St feiars 3R 3mffare Acaigs €]

88 Most heat resistant material in the world is

Rrea # Ty 317 it STarel Eme
(a) Titanium /eBCTAIH
(b) Molybdenum /#ifolessTel
(c) Haynes /g=8
(d) Tantalum carbide /’c‘?ﬂﬂﬂw‘lﬁﬁs@

Sol- Researchers have discovered that tantalum carbide and hafnium carbide materials can withstand
scorching temperatures of nearly 4000 degrees Celsius.

QTSR A3l o IdT 91T § b Eeoie 1153 3R ewiaae Fra1ss Irealt oTersrer 4000 f33ft
AfcTad & T ITATH T THAT F ThaT g

89. Which is the most electropositive element? /WWWWWW%?
(a) K
(b) MG
(c) F
(d) Na

Sol- Among all the elements of the periodic table, the alkali metals are considered to be the most
electropositive. Caesium is known to be the most electropositive stable element.

Mosley gave the modern Long form of Periodic table where the base of classification was the atomic
number.

According to Mosley's periodic law, the physical and chemical properties of elements are periodic
functions of their Atomic number.

3Terel AR & HefY cTedl & &TR UTI31T ol GadY 31Tk el eeTTeseh AT ST § | HTTTH i
oY 3110 el ereiTeae [EUR dcd & €9 # ST AT & |

AIEST 1 3T RO T AT foleh ETEN &9 AT STgT FafienduT ohT TR YTATY] shAieh 2T

HIES o 3TTalcl IIH & HTHR cedl & $fdeh 3R AT Ieh 0T Se7eh TRAT] SheATeh o 3Tecl hele]
GRS
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Periodic Table of the Elements

Electronegativity

He
Number .c -n—
S — Ne
iy | s s 22 25 2SR | b =
8 “Ar
T -

Se

m
Ru |'Rh ['Pd L%
23 i in am an
“w "os |"Ir ['Pt |"Au “Pb At |'Rn
— === e o ==
“Rf |'Db |"Sg |'Bh |"Hs | "Mt |'Ds |"Rg |'Cn |'Uut|“F1 |Uup| 'Lv |Uus|Uuo

90. The gas that filled the electric bulb is
fooTell & Sod I IRA T T &

(a) Nitrogen /aITScrolel
(b) Hydrogen /gT83letel
(c) Carbon Dioxide /gT83IoTeT
(d) Oxygen /3iTF&EISTeT

Sol- Incandescent light bulbs are filled with an inert gas like nitrogen, argon, or krypton - so that the
filament doesn't catch fire. Early ones were a vacuum. Flourecent lamps are filled with an inert gas
plus mercury vapour or neon, which glows ultra-violet when charged.

TRHATREA TehIT Tod dAT5eralsT, 3T, IT fohtesT S 31T T T M B & - arfer fhetreie & 31T
of 19T | LR3I Teh folalTel & FeARIHE o Teh 31fohar 31 Coldy IRT TSy AT 37T F R g &, St
Tol glel 9T 3Teel-arole aHhdT & |

91. How many elements are present in the sixth period of the modern periodic table?
3meforen e ARUN & B 3HTac # fohelel ded Aleg 82

(a) 18

(b) 22

(c) 32

(d) 36

Sol- The sixth period contains 32 elements.

TS AT H 32 dca &1

92. Consider the following statements

1. In Modern Periodic Table, the number of periods is 7/3-1T‘?:19ﬁ3~7 3ad grRof ff, fafear $r
e 7 gl

2 In Modern Periodic Table, the number of groups is 18/3-1T‘{13ﬁ$ 39d grRof #, HTI“%T $r gEar
18 gl
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3. The long form of Periodic Table was developed by Range and Werner./3TIT:|T-‘f RO &7 &1 §T
T 3R 9ot @ fashfad fmar arm

Which of the following is/are correct? / TaFaToll@d § & &l ar Ggr & / g7
(a) Only 1

(b) 2 and 3

(c)1and2

(d)1,2and 3

93. Consider the following statements with reference to the Periodic Table of chemical element /
AP ded Sl AT IROT & Tl H eeIfolild HYer W fGar &Y

1. lonisation potential gradually decreases along a period. /. lonisation Fr &7Far -4 T
3afr & @y F gl e g

2. In a group of element, electron affinity decreases as the atomic weight increases./ dcd % TH
I H, WAIY] #R §6a1 & HTY SoIFelel HTcHAIAT T STl &

3. In a given period, electronegativity decrease as the atomic number increases. / Teh IGIECG
Jafer &, WA HEAT & &9 F fdegaerioaiiedr ge s ¢

Which of these statement(s) is/are correct?/ smfr T T a1 HUT T 8§/ B?

(@) Only 1

(b) Only 2

(c)1and3
(d)2and 3

94. Which group has no metal?

disT TN THE A HS U] =gl gl
(a) 1A

(b) I'A

(c)virA

(d)viB

95.. How many elements are there in the 5th Period of Modern Periodic Table?
3meyfieh e FROM AT 57 Al & fher oea g2

(a) 2

(b) 8

(c) 18

(d) 36

96.. In a period, the elements are arranged in the order of / Tdh 3afer ﬁ', dcal & cgaredd
forar arar &

(a) constant charges in the nucleus / ATIAS & ARAT T9R

(b) equal charges in the nucleus / ATTRS H AT AU

(c) decreasing charges in the nucleus/ SATfA® & Ted qTaT

(d) increasing charges in the nucleus / ATT#% H dad qTeT
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97. Match List-l and List-1l. / g=- | 31 - 1l ey

List-1 List-lI

A.Elementsin group | A /HHg |7 dea 1. Inert gas/ 3T 3T
B. Elements in group zero /14316 AT H dod. 2. Alkali metal / &R iTIT:ID'
C. Elements of d—block/éﬁ'-ﬁvlvﬁ? % dca 3. Inner-transition element / TARS-HHAUT dcd
D. Elements of f—bIock/I"CF-WVW % daa 4. Transition element / THAUT dcd
Codes

ABCD
(a)2143
(b)1432
(c)4321
(d)3214

98. Which one of the following properties changes with valency? / efaf@a & O Sl a@r 31'UT
AT & FIY TeoAdT §?

(a) Atomic weight / AT AR

(b) Equivalent weight / JAJeT AR

(c) Molecular weight/ 3TT0Tideh $IR

(d) Density / Yelcd

99. Which one of the following is an element which never exhibits positive oxidation state in any of

its compounds?/ fAFIfaf@a & & &9 @1 e dcg § o 9= Fdr o I &

ThRIcHS JTFHIRIOT aEAT F FIN TeiRid &7 Far &2

(a) Oxygen / 3iTerdiatet

(b) Chlorine/ FelRTeT

(c) Fluorine / TFellRIeT

(d) Carbon / STl

100. The ionisation potential of nitrogen is/ ATSeIolel T TAIIAIUT &HAT &
(a) same as that of oxygen / JTFESTT & AT &

(b) less than that of oxygen / ST fr Jelel HAAE

(c) greater than that of oxygen/ ST fr Jefell 7 3¥s

(d) None of the above / 3TRIFd H & &5 Al

101. Which of the following has maximum density?/ Tefaf@d & @ fFaer 3¥EFdd gadca
g?

(a) Chloroform / FRIBIA

(b) Water / 9TsiT

(c) Benzene / Soflel

(d) Ice/ %
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102. Match List-l with List-1l. / - 11 AT G- |37 [HelleT |

List-l List-ll
A. Modern periodic law/ M%ﬁa? 3ad e 1. Groups [HHg
B. Father of Periodic Table/ 3Tdd ARCN &l STeidh 2. Moseley /ATl

C. Vertical lines in Modern Periodic Table/ HTEA'T?-IE 3ad RO H d9ad @i 3. Periods/3TTacT

D. Horizontal lines in Modern Periodic Table/ mgﬁ% 3ag RO # &3 @IV 4. Mendeleef/ HZeh

ABCD
(a)3421
(b)4132
(c)2413
(d)2134

103. Which one among the following metals is more reactive than hydrogen?/ﬁlﬁﬁ'@?f qE
FaT W o TR § 30w RN

(a) Mercury / 9RT

(b) Copper / AT

(c) Silver/ T&Td

(d) Tin/ fe=T

104. The most reactive among the halogens/ E?ﬂ?l?-r & o e e gfafeameier
(a) fluorine / AT
(b) chlorine/ FARIT
(c) bromine / §T#HTeT
(d) iodine/ 3TTATS

Among the halogens, fluorine is the most reactive. Group seven's most reactive element, fluorine, is
significantly more reactive than chlorine. The outer shell of fluorine is closer to the nucleus and has

fewerﬁlledspaces./mﬁmﬂmmmﬁﬁﬁ %}I WWEFI"HW
e wfcfshareliel dcd, Fell{ieT, Folidler &1 Jefell # H1ohT 3iftier giafsardie 81wl
HI JTEYT JTAROT ATfAS o IS Bl & AR STH HA X TU &id gl

105. The long form of Periodic Table is based on / 3Tad RO &7 T 9 9T 3meRa %’
(a) electronegativity / aqu'\IQﬂzUIIchlwdl

(b) mass of the atom / GXHTV] &1 GedATT

(c) shape of the atom / GIHATUT T 3T

(d) atomic number/ GIATO] q&ar

106. Match List | with List II. / = 13 A T 11 A1 T |

List-1 List-11
A. Element with smallest atomic radius/ ey orer WTU;I' T arell ded 1.Cs
B. Element with largest atomic radius/ parspey dsT WTUI T Tl ded 2.F
C. Element with highest electron affinity/ 3TddH $<:1¢§Td HTCHIIAT dTell ded 3.Br
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D. Element with negative electron affinity/ sTehRTcHh $<:1¢§Td HTCHIIAT dlell ded 4. Cl

Codes
ABCD
(a)3214
(b)2143
(c)1432
(d)a321

107. Consider the following statements/ AR HUAl W IR Y

1. Technetium was the first element to be made artificially. /éﬁﬁ?m agﬁw T T TR A
drlell 9gell dcd ATl

2. The non-metals are poor conductors of heat and electricity./ 31"21'IF_I"Q'V AT AR ﬁa?i_l,ﬁ &
fAaTee g &

3. Hydrogen has a single positive charge, like the alkali metals, but at room temperature, it is a gas
that doesn't act labeled a metal. Therefore hydrogen usually is a non-metal. E'I??_QGIH H &R
T3 I TRE TH & YallcAD AL BT g, Afehe] HAY & dAUHA W, Ig Teh IF § S
fohell T TR Aol g AT &1 SHAT gISgiolT HHAR W U IR-4T] ¢l

Which of the statements given above are correct? / W U av T T FUA F@' %?

(a)1and 2
(b) 2 and 3
(c)1and3
(d)1,2and 3

108. Which is the most reactive metal?/ I8 3189 gfafearier ETIT-QT HiT-dr &2
(a) Sodium / AifsTe

(b) Calcium / eI

(c) Iron/ 3T

(d) Potassium / AT fRreT

109. The total number of lanthanide elements is/ ﬁﬂ?ns‘s' dcart &r iv_ol' e %’
(@) 8

(b) 32

(c)14

(d) 10

110. In Periodic Table, metallic elements appear/3Tad RO H, nfcas dea ﬁ'@'lé’ a8
(a) in the left-hand columns / STT T & FioT H

(b) in the top rows /Y afeaar &

(c) in the right-hand columns /(c) §TT &I & FictH H

(d) in the bottom rows/(d) s & gfFaar &

111. The alkali metals have relatively low melting point. Which one of the following alkali metals is
expected to have the highest melting point?
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&R T3l & 3r9eTIehc A Ielelieh giar &1 Aeioi@d # ¥ g &R a1 & qad
& TR gl Hr 3FAG §?

(a) Li

(b) Na

(c) K

(d) Rb

112. Match List | with List Il. / F&T | 3 AT T 117 AT Y

List-1 List-11
A. Most reactive alkali metal / &8 gfafrarefiiar &) ‘ZTI_ST 1.F
B. Chemically most active non-metal/TE@TAfA® &7 & garfds i 31‘3-1'@' 2.Cs
C. Metal with maximum density/ 3SR IH Gelcd aTell iTIT:I:' 3. Hg
D. Transition metal is in liquid state/ TSh&TOT %TIFQT el 3aTAT H § 4. Os
Codes

ABCD
(aJ4321
(b)1432
(c)2143
(d)3214

113. The elements of a group in the Periodic Table / 3Tad @Rl & T g % dcd
(a) have similar chemical properties / AT TAITAH 0T
(b) have consecutive atomic numbers / eldlTdY IIATIT &I

(c) are isobars/ 3TSHAER

(d) are isotopes / FHEATAR

114. Match List | with List II. / = 13 A T 11 A1 7T A

List-1 List-lI

A. Recently named by IUPAC/gTeT & # IUPAC GaRT oITH f&aT 3T 1. Fe
B. Variable valency/‘:IﬂT:IT-‘I?ﬁTr aerar 2.Ds
C. Maximum eIectronegativity/m E‘Id\gd"lﬂﬁzullcd-lchdl 3.Cl
D. Maximum electron affinity/37T&IeceT Wﬂ' SATcHTAT 4. F
Codes

ABCD
(a)3214
(b)4321
(c)1432
(d)2143

115. Consider the following statement about d - block elements / d -Solleh dedl & X &
fArIfafEd Ul « faar &

1. They are all metals. /. 3 4T ?-TIT:DT gl

2. All of them are not coloured. / 378 & T TN AGr &1
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3. They show variable valency. / @ IREd=T duar fe@ra &1

4. Most of them form simple salts. / 378 & TIHRIA TATIROT 0T dATT gl
Which of the statements given above are correct? /3UX ferw v FiT I FUT 'H'&Pf %?

(a) 1 3R 2
(b)1,2 3K 3
(c)2 3R 3
(d)33R 4

116. Match List | and List II/ =T 13 &1 T 11 &1 Aol |

List-

List-II

A. First element produced artificially 9ger E(Ifﬁﬁ ] ¥ 3carfed ded

1. Liquid NHs; dXeT NHs

B. Chemical used for cooling in refrigerator /XTSFoltex # 33T A F
forT sEa#ATer foRaT S arerr IaTTeT

2. Technetium /eaFafeTd

C. Laughing gas / &Tfthar 3@

3. Aluminium/ UF{I;&I‘T?IW

D. Most abundant metal in the earth's crust oxide

4. Nitrous/ TscH

Codes
ABCD
(a)1432
(b)2143
(c)4321
(d)3214

117. The first metal of the periodic table
e AROM & Gger g

a) Hydrogen / E‘IE'QGI?-T

b) Lithium / Toifdas

c) Helium / m

d) Berellium / Sforgs

118. The first metalloid of periodic table is?/
e ARON T TgeT 3TN &7

a) Carbon / FTeeT

b) Silicon / Aot

¢) Boron / §RIeT

d) Germanium / SHETH

119. In modern period table Group 15 known as?
3megfreh 3MMacd AR H Fofg 15 ®T H ST S &2
a) C- Family / Shf&elr
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b) B - Family / W&l
¢) N — Family / f&elr
d) O — Family / W&l

It consists of the elements nitrogen (N), phosphorus (P), arsenic (As), antimony (Sb), bismuth (Bi),
and perhaps the chemically uncharacterized synthetic element moscovium (Mc). In modern I[UPAC
notation, it is called Group 15.

120. In modern periodic table Group number 16 is named as?
3Mefeieh e AR H WHE HEIT 16 1 AT fohar arm g2
a) C- Family / &l
b) B - Family / W&l
¢) N - Family / $faelr
d) O — Family / WA

The oxygen group element, also called chalcogen, any of the six chemical elements making up Group
16 (Vla) of the periodic classification—namely, oxygen (O), sulfur (S), selenium (Se), tellurium (Te),
polonium (Po), and livermorium (Lv).

121. In modern periodic table Group number 13 is named as?

Y 3aS RO F TR W 13 F ARG T IR E
a) C- Family / Shf&elr

b) B - Family / Hf&elr

c) N — Family / faelr

d) O — Family / WA

The boron group are the chemical elements in group 13 of the periodic table, comprising boron (B),
aluminium (Al), gallium (Ga), indium (In), thallium (TI), and perhaps also the chemically
uncharacterized nihonium (Nh).

122 Heavy metals or transition metals are placed between group number-

HIY GTI31 AT HhAUT U3 I THE FE&IT & o @1 STl 8-

a)2-12
b)3-12
c)4-13
d)3-13

123. Lanthanium belongs to which block?
JeafTH fFe sdlfe & Hafed &7

a) S—block / Solleh

b) p—Block / sclieh

c) d-Block / solleh

d) f—block / selieh
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124. Actinids belongs to which block?
UiFeATSsd HlT AT sclih & T &2
a) S—block / solleh

b) p — Block / solleh

c) d - block / Sclfeh

d) f—block / sclieh

125. Atomic number of mercury (Hg) is?
URT T GRATI] HET (Hg) 82

a) 80

b) 79

c) 82

d) 72

126. Atomic number of Gold (Au) is?
Tl T GTATT] TE&AT (Au) &2

a) 80

b) 79

c) 82

d) 72

127. The common name of sulphur is?
e T AT AT g2

a) Freon / T

b) Galena / 3fo=T

c) Lime / el

d) Brimstone/ SlSH rary

128. Which of the following pair of metals exists in their native state in nature?
Prfafad & & Fi @ urg Sty F e A R #F A
(a) Ag and Hg

(b) Ag and Zn

(c) Au and Hg

(d) Au and Ag

Gold (Au) and silver (Ag) are highly non-reactive metals. Therefore, they are available in their native
state in nature as they do not react with oxygen or any other element in the atmosphere.

129. Which of the following is not a non metal
goTsl ¥ Pl AT g A ¥

a) Phosphorus / BTEBRE

b) Sulphur / e

c) Fluorine / q@raﬂﬁ?r

d) Gallium / 3forgs
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130. Alkali metal can

&R €T Y Fohd &

a) Be highly unstable at room temperature / &Y & dATYHT W IS W &
b) Vaporize at room temperature / ShHY & dIIHAT X aIfsad &Y

¢) Easily gain electrons / 3@ & solcl'g,Td\i FI 9Ted A

d) Easily lose electron / 3TTAT & Soldcld @ & &

131. Who discovered Nitrogen?
ASerete T @ fhder dr?
a) Faraday / $h18

b) Heisenberg / E'IEQFIEI?T

c) Hooke / §\T=F

d) Rutherford / EIhIE

Nitrogen is the chemical element with the symbol N and atomic number 7. It was first discovered and
isolated by Scottish physician Daniel Rutherford in 1772.

132. Major portion of the earth’s crust is mainly constituted by
HIGE &1 GHE AT HEad: AffAd giar -

a) Oxygen and Iron / 38T daT oiig &

b) Oxygen and Silicon / 3iTadreteT aur fRAfosieT a

c) Silicon and Iron / RafoieT aer oig &

d) Silicon and Aluminum | Rl aar Uﬁlﬁﬁ'&ﬂ' T

Oxygen is the most abundant element in the earth’s crust, comprising 46.6% or the crust by weight.
Silicon 28%, aluminum 8.2%, iron 5.6%, calcium 4.2%, sodium 2.5%, magnesium 2.4%, potassium,
2.0%, and titanium 0.61% also comprise the crust. Given the abundance of oxygen and silicon, the
silicates are the most abundant minerals in the earth’s crust.

134. The most abundant metal in the Earth’s crust is
HIGE A G T AN H A arell org 8-
a) Zinc / STE&EAT

b) Copper / drteT

c) Aluminum / UFQ@%—I’QH

d) Iron/ FI’I%T

135. Atomic number of Silver (Ag) is?
TEY T AT FAE (Ag) ¥ ?

(a) 47

(b) 38

(c) 68

(d) 29

136. Atomic number of Zinc (Zn) is?
fSieh (zn) T TRAT] HaATH 82
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(a) 24
(b) 48
(c) 30
(d) 10

137. Atomic number of Xeon (Xe) is?
T3 (Xe) T TRAT] FEAT &2
(a) 53
(b) 54
(c) 48
(d) 27

138. Atomic mass of lodine
TSN T IRATI] Geg AT
a) 136.9

b) 116.9

c) 126.9
d) 146.9

139. Inert gases are

a) Miscible with water / 9Tl & gy W

b) Not stable / T &I &

¢) Chemically unreactive / IS & F 3fhaT

d) Chemically very active / T8R™IIH & & EI@FT afea §

140. Which of the following gas is coloured?/ et & & Fil-ar TN T §
a) Oxygen / 3iTdTeteT

b) Nitrogen / sTTcrotel

c) Chlorine / FaRIeT

d) Hydrogen / E'I??_QGF{

141. Mercury is a —/ 9RT &-

a) Solid metal / Teh 3 iTIT:DT

b) Liquid metal / cXel €Tq

¢) Solid nonmetal / & 31‘111?;[
d) Liquid nonmetal / el 38T

142. Which of the following is used for making smoke bombs?

frfafEa & & fhaer 3udler ¢ Tl 97 & Sl 7 R Sirer g?
a) Sulphur/ He®

b) Phosphorous / BIEHRY

c) Hydrogen / EE‘;'}IGI?T
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d) Carbon / FTeeT

Phosphorus was the first element to be discovered by humans after ancient times, and was
discovered in 1669 by German alchemist Hennig Brand. Brand was experimenting with human urine
in an attempt to create the philosopher's stone, a legendary substance that was thought to turn
metal into gold.

BIEHRY JTelel HTeT & dlG HISA SaRT WISl Sl alell Ygell ded T, 3R 3EHT @iet
1669 H STH HITAAER gfAer siis o T M| 513 S IR el & 9 & Al 7
& ETY GIIET Y TGN IN, T Yy Jard e aR & |ram a7 o7 & Ig org & @
H e Gehel &

143. Which among the following halogens is the most reactive?
farafaf@a # & ia @ gaos gaa afts gfafemamie &
a) Fluorine / q'?i}ﬂﬁc_rf

b) Bromine / Sf&T

c) lodine / 38T

d) Chlorine / FARIA

144. Non-metal found in Liquid State-/ d<cT 3a¥AT H 9T AT dTelr 3YTg g-=
a) Bromine / sT&T

b) Nitrogen / HE@GI?-T

c) Fluorine / FARIA

d) Chlorine / FARIA

145. Which of the following in an inert gas?/ﬁﬁﬁ"@?—f #H O PiT w T g %’?
a) Hydrogen / E‘I?{QTII?-T

b) Nitrogen / sTTcrotel

c) Oxygen / 3iTerdistel

d) Argon / 33T

146. Atomic number of Uranium is?/?ilgﬁl'zm' $r ‘:R?:ITUI Ear %’?
a) 98
b) 96
c) 92
d) 94

147. Oxygen is a —/ 3iTFdTaT 3T -

a) Reducing agent /319dTdeh hh

b) Combustion nourishing / &g 9T¥eh

c) Constituent of all gas / &Y IFT &1 Tk
d) Inflammable gas / SacleTelel 3T

SHIPRA CHAUHAN@CLASS24/ CLASS24



PERIODIC TABLE OF THE ELEMENTS / d<al &Y 3Tdd gRUiY

148. Commonly sodium is kept under the / ATHII: Af3TH Fr @ AT %—
a) Alcohol / Teehlgel H

b) Water / STel p=

¢) Ammonia / 3 faT &

d) Kerosene oil / fﬁ'{a AT H

Sodium metal is highly reactive and never found in elemental form in nature. Because of this reason,
they are stored under mineral oil or kerosene.

149. No. of unpaired election in inert gas is/ 37Tsp T 3T & 3@? $<‘\Mg:|lo-|\i Fr E&IT BT §-
a)o

b) 8

c)l

d) 18

150. Which of the following is second most abundant element on the surface of sun beside

Hydrogen?/@'l%‘fﬁl?{a? faRed, e & @ sia-ar For aﬁ@rmw 3ufeud giar g2
a) Helium / giferas

b) Neon / GRIGE

c) Argon / 33Tl

d) Oxygen / 3fTargelaT

The most common element in Sun just is Hydrogen about 72. The fusion reaction on our Sun
manufactures from hydrogen other elements. The 2nd most abundant element is Helium, it makes
26 percent helium of the elements. Other elements include: oxygen, carbon, neon, nitrogen,
magnesium, iron and silicon.

151. Which one among the following is Lubricant?/ FeaTaf@a & & =i @T @?EF %‘?
a) Germanium / SHETH

b) Sulphur / e

c) Graphite / JwIST

d) Indium / é'U'spl'{IDF

Graphite is a mineral made of loosely bonded sheets of carbon atoms, giving it a slippery texture that
makes it a very effective lubricant. This slippery quality also makes graphite a good material for pencil
lead because it easily sloughs off onto paper.

152.. Why metals conduct eIectricity?/?JlaoQ’ ﬁ?{ﬂ?l’ FT TATIT FAT P 67
a) Because of low melting point/ shH Telelleh & RO

b) Because of high tensile strength / 3= deddl dlehd Fr dalg o
c) Because of free electron/ Hed 3@3%:!1?[ & HROT
d) Because of high atomic density / 3T LRTI'I'UI gelcd o HROT

153. Who discovered oxygen?/ JFEeT f @it FEe e
a) Carl Scheele /mm
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b) Hooke/§T=F

c) Heisenberg/ E‘IB?T-FGD‘I'

d) Williams/ faferae=g

Oxygen is the chemical element with the symbol O and atomic number 8. It is a member of the
chalcogen group in the periodic table, a highly reactive nonmetal, and an oxidizing agent that readily
forms oxides with most elements as well as with other compounds.

The element was discovered independently by Carl Wilhelm Scheele.

154. Barium loses electrons to achieve noble gas electron configuration.

INTA AT NG SoFeleT [T & Ired H & v SolaclAl I @ ST g
a)1l

b) 2

c)3

d) 4

154. Which of the following is not a property of a metal?/ AFATaT@d H & & Th ETIT:ID' $r aor
e &?

a) Hardness / FoRdr

b) Lustrous / THhGR

¢) Malleability / 3TETda=dT

d) Poor conductivity of heat / AT I WS ATelehdl

155. Which of the following metal has the lowest density?

PrTi@e 3 & R U1q & GO F Tefed g ¥?
a) Lithium / Nf2as

b) Iron / 3T

¢) Gold / I

d) Vanadium / CLIERE:]

Under standard conditions, lithium is the lightest metal and the least dense solid element. It is a soft,
silver-white metal belonging to the alkali metal group of chemical elements.

156. Which of the following cannot be beaten into Sheets?
fafof@aa & & fFe arex & 8T dier ST Tt &2
a) Gold / &I=AT

b) Silver / Teax

c) Potassium / qrefaad

d) Aluminium / Uﬂ'ﬁﬁm

Aluminium, potassium and chromium are metals whereas argon is a non-metal (in fact noble gas).
Thus, argon does not show the property of malleability.

157. The property of metal by which can be drawn into wires is
called

o1 & IO foras ganT art & Wiar o Hahdr § 39 HET AT &
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a) Malleability / 3TeTda¥I=i=adr
b) Viscosity / ATAT

c) Ductility / deIdT

d) Tensile strength / deT QT

158. Total how many element in the modern periodic table are represented by single letter?

3T T ARON & Fof fohclel ded Tehol &N @RI =T 1T g2
a) 13
b) 14
c) 15
d) 16

159. The inert gas used as beacon light is-

dlehle] ST (ATeall & FUX FAIT T ST dTell RN o15e) A 9ged 3fha 349 &-

a) Krypton / fereeteT

b) Argon / 3iTaTeT

c) Helium / @ﬁl’&ﬂ'

d) Neon / IGRIGE

Neon is used in neon discharge lamps and advertising signs because the neon lights are visible from

long distances. Since the light of neon signs has a better penetrating power through fog and mist, the
neon signs are also used in beacon lights for the safety of air and sea navigation.

160. Which of the following elements has 2 shells and both are completely filled?
rrfafle & & fre dea & 2 @ § 3R Al f w9 & oY gu
a) Helium/ giferas

b) Neon/ IGRIGE

c) Calcium/ hToRTIH

d) Boron/ CIRG]

Neon with the atomic number 10, has the electronic configuration as:
Hence, both its K and L shells are completely filled.

161. Which of the following does not decrease while moving down the group of the periodic table?
3ad ROl & F@Ag A A I W Aefaf@d d @ S wa T8 g €2

a) Atomic radius/ WTUI ErRI

b) Metallic character/ &Tfcaer goT

c) Number of shells in the atom/ tR?FlTU:DI' H AT T gEAT

d) Valence electrons/ TITSTehdl SolFelel

Number of valence electrons in a group remain the same.

162. An element ‘A’ belongs to the third period and group 16 of the Periodic Table. Find out the
valency of A.

UF dcd A 3T AR F A T 3R T 16 F FEfAT ¥ AP FAISTRar A
HITSTT|
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(a) Valency = 6/ HITSTehdl =
(b) Valency = 2/ HISThdT =
(c) Valency = 1/ EIISThdT =
(d) Valency = 3/ HIISThdT =

w B No

163. Write valency of Iron ?/ dllg T aletehar faf@u ?
A) 2

B) 3

)0

D) 2,3

164. Electronegativity depends upon ?

golgeleTafefadr ford ov fei el 87

A) Size of an atom/ Tch GIATIT T 3T

B) Nuclear charge on atom/ GIATI] 93 AT YA
C) Electrons in an atom/ Teh YIATUT H sogeld

D) All/ Ty

165. In periodic table, Helium is placed at

Aad aroll H ffoAa & 9 @r 1w g
A) Top left corner/ FWRT 1T @let

B) Bottom right corner/ foiareiT GrAT et

C) Bottom left corner/ GECIEGIRICG]
D) Top right corner/ 39T &TT il

166. Which of the following, in their outermost shell has 2 valence electrons?
FafofEa & O Fas gad T8l 1T J 2 TASHdT Sdacid ald 872
A) K shell/K QreT

B) L shell/L 2reT

C) M shell/M /T

D) N shell/ N 2t

167. Which out of them has the biggest radii?
s ¥ fradr B ged 99 @2

A) Na

B) Mg

C) K

D) Ca

168. Which metal is protected by the layer of its own oxide?

forer T 1 39e JiferaTss T R qarr WA R S g
a) Silver / @TEr
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b) Iron / FI’I%T
c) Aluminium / uag?:\’lﬁm

d) Calcium / iR
Aluminium is protected from corrosion by a layer of its own oxide Al,Os.

169. If the bullets could not be removed from gunshot injury of a man, it May cause poisoning by-

I S T IMell Tt F g oG A Melled fAprell ST T A WR 7 fawreraan, e
IROT BIell &-

a) Mercury / 9RT

b) Lead / HTET

c)lron/ FﬂﬁT

d)Arsenic/m

170. Helium gas is filled in the balloon instead of Hydrogen because its-

IeIRT & EISZIoTal Sl SIETE EIioad 3 1 Sl § i Jg-

a) Lighter than Hydrogen / slsgs\ldrl T gool Bl &

b) More abundant that Hydrogen / dg 6|$§\Io1a-| Fr efedl H Y AT H =Y S B
c) Non-Combustible / Ig 3TodoleTeiielel @?ﬁ % I

d) More stable / Ig 318 TARY &

Helium is used in balloons in place of hydrogen because it is incombustible. He do not catch fire like
hydrogen. He is a inert element.

171. What is contained in Chlorophyll?
FRIfReT & T Afd

a) Sodium / @IfsIH

b) Potassium / qrefrad

c) Manganese / H3TailoT

d) Magnesium / HIAITAIHT

172. Which of the following can not be formed
farafafaa # & frarer 31ffdca 9 =g &-
a) He*?

b) He*

c) He

d) Hez

173. is made by mixing iron with carbon and metals like chromium, nickel and manganese-

R H Fee aur wiEed, Wi gt deeler Sl argat & v e
SA & |

a) Ship / sfgret

b) Stainless steel / T¢Il T TETeT
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c) Rust / ST
d) Ozone / 31TallsT

Stainless steel is an iron alloy and is made of mixing iron with metals like chromium, carbon, nickel,
zinc in appropriate proportions. Stainless Steel was invented by Harry Brearley. In India, the first Iron
and steel plant was set up at Jamshedpur. It was called named Tata Iron and Steel Company Limited
(TISCO).

174. Which one of the following is a good electrical conductor?

fArafafad & @ @l a1 v srcoT egd s g2
a) Graphite / JPIBC

b) Diamond / @TI’

c) Peat/ YiT

d) Charcoal / BILCIrC]

175. Transition metals are often paramagnetic owing to

HHHAUT UV IHFER ITETATIeh daehrd glell ©

(a) High m.p. and b.p./ 3T TH.G. 3R «r.dn.

(b) The presence of vacant orbitals / Red &3l $r 3utEafa

(c) The presence of unpaired electrons/ 3T9ehITAIT E@IEI@:IJFIT $r suftafa
(d) Malleability and ductility / 3TaTaaeiaiadar 3R deadr

176. Match List | with List IL/Z[@T | s & T 11T [HelleT |

List-I/ - | List-1l/ TIT- 11
A. Smallest atomic radius/ HEIH BT AIATO] BAodl  1.Cs

B. Largest atomic radius/ parspay dsT WTUI ERRI 2.F
C. Highest electron affinity/ 3TIdH séckg:fe-l TcHTAT  3.Br

D. Negative electron affinity/ dThRIcHh séckg:fo-l JTcHIIT 4. Cl
Codes

ABCD

(a)3214

(b)2143

(c)1432

(d)a321

177. In Periodic Table, metallic elements appear

3mad IRoY &7, anfeae dca RS 2 §

(a) In the left-hand columns / §TT gT2 & Hield &
(b) In the top rows / Y afFaat &

(c) In the right-hand columns / GIfgsY 8T & FictH H
(d) In the bottom rows/ [&=relr gfeaar &

178. Which of the following species does not have electrons equal to 18?
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ffaf@a # & fFT dca/3mas & 18 % SRR Solacisd el &7
(a) K*

(6) Cl-

(c) Ca?

(d) K

179. Na, Mg, Al, S belong to 3rd period of the periodic table. Out of these acidic oxides are formed
by.......?

Na, Mg, Al, S 3Tad RO fr X 3Mad & §1 SIH & T FFEEs....... EaRT Ja1d &7
(a) Na

(b) Mg

(c) Al

(d) S.

180. Atomic number of which of the following elements of greater than that of Copper?
PR % & R FEar W] ¥ I

a)lron/ Fﬂ%T

b) Chromium / SITRAIH

c) Zinc [STEAT

d) Manganese / HdTeiTer

181. The elements of a group in the Periodic Table

3ad ol # vw H@HE F ded

(a) Have similar chemical properties / THTA THTI A ot g

(b) Have consecutive atomic numbers / eldITdR tR?F!TU::I' HEIU %"
(c) Are isobars/ THTRS® &

(d) Are isotopes / THTATAS &

182. Atomic number of which of the following elements is greater than that of Chlorine?

et F & 58 dca &1 WA FEAr FAR § 3RE 52
a) Potassium JareiRae
b) Sulphur / e
c) Aluminum / Wﬁm
d) Phosphorous / BIERIH

183. The atom of an element has electronic con-figuration 2, 8, 7. To which of the following elements
would it be chemically similar?

el Tca & WA & Folagiice [G=ard 2,8, 78IaT &1 TS &7 & Ig fe=iafad

#H 9 9 dcd & AT gem?

(@ N

(b) P

(c) Na

(d) F

Both have same number of valence electrons.
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184. If K has 19 electrons then how many electron will be there in K*
afg K 7 11 selagisl & of K'H fohder gelacla giore

a) 10

b) 19

c) 18

d) None of the above/3aTH & IS sTgT

185. Valency of calcium element is :
FToIH deg HT IASTHT §
(a) 4
(b) 5
(c) 2
(d) 3

186. Valcnce electron of scandium
THEIA F Ao Solacid
a)3

b) 4

c)5

d)6

187. Which of the following gases is heavier than oxygen?

et & @ S & I AT A 3eT 3f0F Ay g &2
a) Carbon dioxide / FIeeT STS3HTFASS

b) Ammonia/ AT

c) Methane / ey

d) Helium / m

The oxygen in the air is actually 02, or molecular oxygen, with a molecular weight of 32. Hence,
carbon dioxide has a higher density, or is heavier than oxygen. And Molecular Weight of
carbondioxide 44.009

188. The elements of 14th group form with oxygen:
149 §HAE & ded 3ferdstel & AT Fold g
(a) Acidic oxides/ 3TFalld H\W'IB?E

(b) Basic oxides/ &I ﬁﬁ'ﬂ'l??g

(c) Amphoteric/33TIerHT

(d) None oxides/ﬁﬂ'l??? el §eATr

189. An element M, is in the 13th group, the formula of its chloride is?
Teh dcd M, 13 d GHg #H B, 38 FellNssS & FJ g?

(a) MCl

(b) MCl,

(c) MC1;5

(d) MxCls
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According to modern periodic table, first element of 13th group is boron and in this group general
oxidation state is +3. Oxidation state of chloride ion is -1. So, the formula is MCls .

190. Which of the following period is the shortest one?

fArfaf@a # @ Fia-a@ 3afe gaq ol g2

a)1l

b) 3

c)2

d) 4

The first period is known as the shortest period among the seven periods of the periodic table this is
because it contains only two elements; one of the two elements is hydrogen which belongs to alkali
metal group and the other is the Helium which is a noble gas.

191. How many electrons are there in the L-shell of Boron?
IR & LT F fohdel Selaelal 8l &2

a)3

b) 2

c1

d) 4

192 first transition series starts from and ends with

HRHOT Sl q YE @ 7 IR W AT gl §
a) Zinc, Scandium/ Toie, Thizas

b) Scandium, Zinc/ ThisTH, Toiep

¢) Vanadium, Nickel/ dafsaa, [@aner

d) Argon, Zinc/ 31T, ol

In the 3d transition series, the have either partially or fully filled 3d orbitals. The 3d transition state

starts from Scandium (Z = 21) having electronic configuration as 3s23d1 and ends with Zinc (Z = 30)
whose electronic configuration is 3s23d10.

193. The fourth period ends with the element /10. TtAT 3MaT ded & Oy
FHATCT BT &

a) Helium/ giferaa/

b) Argon/ 33T

c) Neon/ IGRIGE

d) Krypton/ Terces

Every period ends with a noble gas, as the element at the end of the period is with the fully filled
orbitals. The 4th period has an outer shell as O i.e. n = 4. So the configuration is [Ar}4s23d104p6, that
is Krypton.

194. Name the element that belongs to s-block but is placed in the p-block.

3" dcd & 1H ddI8T ST s-sclleh & FEIT § oifehed p-sclieh & I@T AT gl
a) Hydrogen/ 613';'13!3’

b) Helium/ '&'ﬂﬁ'ﬂﬂ

c) Argon/ 33T
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d) Aluminum/ Uﬂﬁﬁm

Helium’s electronic configuration is 1s2. As the last electron is filled in s-orbital, it belongs to s-block.
Since the 1st shell cannot accommodate any orbital than s, 1s2 is completely filled orbital, hence
making it, a noble gas. Noble gases are placed in p-block.

195. has both the characteristics of Alkali metals and halogens./ H &R
et 3R Feo et i FRIaTe ¥

a) Helium/ giferas

b) Chlorine/ FARIA

c) Sodium/ E3T

d) Hydrogen/ 613‘5'3?-[

As per the outer shell configuration of hydrogen (that is 1s1), it has only one electron in s-orbital
making it eligible as an Alkali metal. It requires only 1 electron to obtain a noble gas configuration,
which is a characteristic of halogen.

196. The p-block elements along with s-block elements are called as elements.
4. Q-sclieh dcdl & ATA-HTY UH-selich dcdl ol dcd Fgl ST gl

a) Inner transition/ 3TTdR& Hh&UT
b) Representative/ Ffafafer

c) Radioactive/ Ifzarerst

d) Transition/ THHATT

The p-block elements comprise of elements from group-13 to group-18 while s-block elements are
1st and 2nd groups. They two together form “Representative elements” or “Main group elements”.

197. Which of the following is not a Metalloid?
faFAfaf@a & & Pl U Acrdigs 781 g2
a) Germanium/ SHETA

b) Silicon/ faforeieT

c) Aluminum/ K’W@ﬁ'ﬂﬁ

d) Tellurium/ é?qji'qﬁ

Metalloids are those with both the properties of metals and non-metals. They are also known as
Semi-metals. They are 8 metalloids known till date, namely boron (B), silicon (Si), germanium (Ge),
arsenic (As), antimony (Sb), tellurium (Te), polonium (Po) and astatine (At).

198. Metals consist of % of the elements known.

I3t H AT dcdl @ % gl &

a)78

b) 32

c) 22

d) 68

Elements are classified into metals, non-metals, and metalloids based on their properties. While 78%
of the elements that are known today are metals. Metallic nature is prominent on the left side of the
periodic table.
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199. Total how many elements are present in modern periodic table?
3mefAeh 3Mad GROT & Fol v dea Alope &2

a) 115

b) 118

c) 112

d) 128

200) In Newland’s law of octaves which element resembles the some properties as Berillium and
Magnesium ?

=gols & 3fieFecd & fAeyid & Hla 41 deqd NfATH 3R AR & &7 & $o o1
ST fegar g2

a) Calcium / Fiorrad

b) Aluminium / U@'\%ﬁ'ﬂﬂ'

c) Silicon / GIGEIG

d) Potassium / qrefrad

1. The element presence in 12group and 5% period?
12 @A 3N 59 3mad H dea 3UTEATT g2
a) Cesium / o TH

b) Cadmium / FsfAIga

c) Calcium / hioRTIH

d) Chromicem/ HIEITH

2. The element present in 11" group and 4™ period?
dea 11§ FHg 3R Y 3mad F Ag &2

a) Chromium / SHITEIH

b) Calcium / ShferrIe

c) Copper / dT&T

d) Cesium / Tifaasd

3. The element present in 1% group 7*" period is?

Ugel HHE 79 3Tad H AlS[g dcd g2
a) Francium / SheTTRIeT

b) Rubedium / ®af3T#

c) Cesium / HifarasT

d) Potassium / qrefrad

4. Which of the following pair of elements belong to the same group?

fArafaf@d & @ @l a1 dca s & @ & &2
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(a)B,N
(6)S, Cl
(c) Mg, Al
(d) Be, Ca

5. Which of the following pair of elements belong to the same period?

afaf@a & ¥ i @1 dcd FA 3ad & &7
(a)c, 0
(6) C, Br
(c)N,S
(d)N, P

6. Which of the following elements will be most electronegative?

Pl & § e 7 dea FEY 30T Regdr o
(a)2,8,4
(6)2,8,5
(€)2,8,7
(d)2,8,6

7. Which of the following sets are members of the same family?
fAeAfaf@d & @ &l a1 §g T & IRAN & JGET 82
a) Na, Mg, Ca

b) Li, Na, K

c)O,F Cl

d)O,N,P

8. Which Of the following sets, identify a set belonging to the same period.
frafaf@a & & =l a1 wog, g 3af @ d@&fa dc & ggane #Xar
a) Cl, Br, |

b) Li, Na, K

c) Na, Mg, Al

d) Li, Be, Na

9. Which amongst the following elements whose atomic numbers are given below belong to the
same group?

fArafaf@d & @ @l @ deg S A FAd A T 770 § 9 wh & dog &
R

A=5B=15C=12,D=13

a) BandD

b)Cand D

c)Aand D
d) AandC

10. The last metalloid in periodic table is?
e @Rol 7 3ifae 3uurg 8

a) Tellurium / é?qﬁ'qﬂ

b) Polonium / CIGIGEE:]

c) Arsenic / IR
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d) Silicon / faferare

(a) Sodium, carbon/ TT3IH, FreleA

(b) Alkali metals, halogens/ &TR €T, gellotet

(c) Alkali metals, alkaline earths/ &I €ITc], &TRIZ g2
(d) Halogens, alkali metals/ gollotel, &% 4rd

12. Which of the following parameter decreases in a period when moving from left to right in the
periodic table?

3TaT AROM A 10 A ST ST 91 3Tad H 5T 7 @ let 91 RraAe vedrg?
a) Tonisation energy / 3TI=ATehI0T FotT
b) Electronegativity/ SeldelsTaIfcTacr

¢) Atomic radius/ IYHTI] ERg
d) Metallic character/ €ITfcddh goT

lonization energy

Electron affinity

>
2 o
C Q
;.:E C
© Q
= S
o e
o N
Q c
L (@)

13. Which of the following parameter decreases on moving down a group in the Periodic table?

3TaeT RO 7 FRE FHg D o S &R 391 7 & et a1 Refe gear e
a) Size of atoms / GXHTUL3 T 3THR

b) Ionisation energy/ ITIfAGISTT Fair

¢) Chemical reactivity/ ST Teteh 3TfRATRaTMSIAT
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d) Metallic character/ €T oT&T0T

14. Select the similarity between group 1 and group 17 elements:

THE | IR FHE 17 dcdl o ST HATAT T TG i

(a) Nature of oxide/ 3TTFaTSS HI 9@%

(b) Change of atomic size on going down/ ;ﬁﬁmﬁwmaﬁrm Scelddl
(¢) Valence electrons/ SolFelel HITSTehdl

(d) Change of m.pt/b.pt on going down/ w1 STTeT U ITeTeTTeh/FaYsieh H TRATT

15. Elements A, B, C, D have same number of valence electrons. Their melting points are 458°K,
370°K, 525°K and 245°K respectively. Arrange the elements in increasing order of their atomic
numbers.

dcal T, oY, I, 31 F TATT T&IT H dold Selarciel 8Id & | Seloh ITelelioh shael: 458°K, 370°K, 525°K

3R 245°K B 8 | Al bl 3oTeh GAT] ShATeh o SGcl sl H e i |
() A<B<C<D
(b)C<A<B<D
(c)D<C<A<B
(d)B<D<A<D

16. The elements A, B, C, D get their outer shell progressively filled with electrons. Arrange the
elements in increasing order of their ionization potentials.

dca T, oY, I, 31 379 STELY 1TaRUT T 3R SoldFeiall ¥ XA & | dcal BT SeTehl TTAThOT &TH AT

& S6d A A TafeAT |
a) D<C<B<A

(b) C<B<A <A
(c)A<B<C<D
(d)B<A<D<C

ONE LINER PERIODIC TABLE

Q1. Newlands relation is called

Law of Octaves/3T€ =l I T

Sol-

Law of octaves: The generalization made by the English chemist J.A.R. Newlands in 1865.

If the chemical elements are arranged according to increasing atomic weight, those with similar physical and chemical properties
occur after each interval of seven elements.

37T o1 T SIS TS 1.0, 3T, GRS T A=A 1865 H =eigal

At TR Al h SG g AT HR o6 STTHR sHaferd foram SiraT &, @ e sitfcsh S qamaf-roh it el |1 deail o Sedeh Sfae
ST B &

Q2. Upto which element, the Law of Octaves was found applicable?

AT 1 {1 forer et e g urm T

Calcium /feIrrT

Sol-

The law of octaves was found to be applicable till calcium. After calcium, the properties of the next elements were not synchronous

as per the law of octaves.

G 1 T2 Sfearerm ook T I T <HfexTe o SE, ST Al o 07 HH o o o STTER quenor Tel o)
Q3. At the time of Mendeleev, the number of elements known was
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et o T 1 ded i shl we off

63

Sol-

To put some order into his study of chemical elements, Mendeleev made up a set of cards, one for each of the 63 elements known at
the time.

Mendeleev wrote the atomic weight and the properties of each element on a card.

ATk Al oh T STEHIT H Fo ST 3 o (1, HelTal TS 1 Uk H ST, ST 36 W J1d 63 Tedl H § Jediah o forg ol
TSI = Ueh IS T IHTY] WK S Fedieh dea o 707 forl

Q4. The properties of eka-aluminium predicted by Mendeleev are the same as the properties of later discovered element:

el gRT wfereramoft it 7 ehT-TeR R 3 1T aTe § WS T e 3 0 & FEE 8

Gallium /Aferm

Sol-

Eka aluminium predicted by Mendeleev is Gallium. Eka-aluminum and gallium are two names for the same element, as Eka-
Aluminium has almost identical properties to the gallium element itself.

et g wifersramoft At 7S ST wesifrm ot 21 v Ueate Si Aferm u @ qcd ¥ 3 T 8, FifE v ueHie 7 A
A o TN HH 0 &

Q5. An atom of an element has the electronic configuration 2,8,2. To which group does it belong?
Topeft oear o6 T T Seragien o= 2,8,2 T 31 e foret Te & weifera 9

3,2

Sol-

Element with electronic configuration 2,8,2 belongs to 3rd period and 2nd group.

The valence electrons give us the idea of group numbers.

As the electrons are divided into 3 different shell therefore the period number is 3.

2,8.2 SERZT formame Tet dcd e ST 371 gE aE 1 2|

HATSTRAT Sz & TWE HETatl o foram 3d

=ifeh g I 3 S-S iR H forwrfra fera S 2, gafrg e € 3 2t 2

Q6. The arrangement of elements in the Modern Periodic Table is based on their

ATYfeR ST Bt F s i e I T ST 3

Increasing atomic number in the horizontal rows /&St uferet & AT HE&IT SIGHT

Sol-

In the modern periodic table, the elements are arranged in the increasing order of their atomic number.

This arrangement is based on the modern periodic law, which states that the properties of elements are a periodic function of their
atomic numbers.

TR ST BTt 3 deE T 3ok THTV] ST % G shH H Sraeerd R ST 2l

T TN AT SATaRd T o ATenTied 2, Forersd et 1T @ fof el o6 10T 3ok AT ShH1eh o TTad e 21 o

Q7. Where would you locate the element with electronic configuration 2, 8 in the Modern Periodic Table?

ATYfeR ST BTt 7 ST Feragi foarmm 2, 8 ATl ded i et a?

Group 18

Sol-

The element with electronic configuration 2, 8 has a complete octet. Therefore, it is a noble gas. It will be found in group 18 with all
the other noble gases.

el fo=Im 2, 8 STt ded o1 qUf T8 BT 8 SHICTU, J Ush Icohe T 81 7€ TE 18 H 311 wft Scope Tl o arey el

Q8. Element ‘X’ forms a chloride with the formula XCI2, which is a solid with high melting point. X would most likely be in the
same group of the periodic table as:

T "X T XC12 % A1 FANES ST 2, S Foal T i AT T 31 21T 2| X e 3Afeh §TaT AT a3 e 2w § 2nfh:
Mg

Sol-

As an element, X forms a chloride with the formula XCI12, which is solid with a high melting point. X would most likely be in the
same group of Mg.
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T A o 9 H, X G XC12 o BT U FARTEE ST 8, ST Ueh I 7ok o §1e 31 BT 2 X Tt 37fereh Mg % U & &g  2rml

Q9. Carbon belongs to the second period and Group 14. Silicon belongs to the third period and Group 14. If atomic number of
carbon is 6, the atomic number of silicon is

e gET At SR EE 14 & weiferd 31 Rrforetar et srafer i ae 14 @ weifra 21 2t el ot ooy s 6 2, a1 faforst i
THTY] EET &

14

Sol-

Carbon belongs to the second period and Group 14. Silicon belongs to the third period and Group 14. If the atomic number of

carbon is 6, the atomic number of silicon is 14.

e GHL AT SR 14 7 21 Tafersn et a1 a1 8 sfivant 14 o1 21 2 el 1 TTo] Shih 6 2, 1 Faforehi 1 ooy shwien 14
2l

Q10. What is the atomic number of element of period 3 and group 17 of the Periodic Table?

T AT o SATad 3 A HAE 17 % el T THIV] SHHieh 7 82

17

Sol-

The Element present in third period and seventeenth group of the periodic table is Chlorine

Atomic number of Chlorine is 17.

e Areoft 3 e STed ST wvEs e H Iufkud acd T 2
FAR T T HEAT 17 2

Q11. The elements A, B and C belong to groups 1, 14 and 17 respectively of the Periodic Table. Which two elements will form
ionic compound?

A T, oft 37wt 77t Al 3 T W 1, 14 3R 17 § Gefd 8 1 & 31 aea st

Aand C

Sol-

B and C will form a covalent compound since both are non-metals.

A and C will form an ionic compound since A is alkali metal and C is non-metal.

B 3R C U HewaIsTeh ek SHIGT Hiifeh 3T 3147 2

A 3 C STtk iR SHTG TR A & o1g # 3R C g 21

Q12. Name the neutral atom in the Periodic Table which has the same number of electrons as K+ and Cl-.
e AToft & I e THTY 3 A AT S K+ ST Cl- 3 T 3eragi i 6 2

Argon

Sol-

Atomic number of K is 19 and after losing one electron it becomes K+ so number of electron becomes 18
Cl atomic number is 17 after gain of one electron it will have 18 electrons.

In periodic table neutral atom Argon has atomic number 18 i.e. 18 electrons

K Y ORATO] G 19 ¥ ST U 3o G o oe 78 K+ 21 ST & Ja{ery Soierg ohl e 18 . & St &

C1 WA ST 17 8, Uk SeTagi STH ] 01 S8 18 goidgi el

ST ROt 8 T T STRT 1 IRHIY] A7 18 31T 18 e arar

Q13. An element X has mass number 40 and contains 21 neutrons in its atom. To which group of the Periodic Table does it belong?
T e X ohl S HAT 40 § S g90eh 00To] 21 < &) e 377 anoft o fore w & weiferd 82

Group 1

Sol-

An element X having mass number 40 and contains 21 neutrons in its atom belongs to group 1 (2,8,8,1).

T el X Toresht ST 6T 40 @ 371 39eh TT0] # 21 =g &, 8 1 (2,8,8,1) @ Eeifera 21

Q14. Which of the following forms the basis of the modern periodic table?
frferfaa & & @ smyfies stad amwoft 1 smawr 32

Atomic number /TTHTI e

Sol-
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The modern periodic law invented by Dmitri Mendeleev and Albert Ghiorso. He states that the properties of elements are a periodic
function of their atomic numbers. Hence, the modern periodic table is based on the atomic numbers of elements.

AT ATad e ot sforsahnt fafnft Teetta St stead foremet = foram om ST e & fof il o 1O 39eh TRAT] Shafieh o STTad et
ﬁ%%l 3T SATfe T ATt el 3 T shHie O ST 2

Q15. Which of the following is the correct order of the atomic radii of the elements oxygen, fluorine and nitrogen?
freferRa & & @1 a1 dear Sfterfiom, T S ATsgis o Ty B st w56 27

F<O<N

Sol-

The increasing order of the atomic radii of oxygen, fluorine and nitrogen is

fluorine < oxygen < nitrogen.

This is because the atomic radius decreases from left to right in a period.

HATFHISH, FART TR AT 1 A1) e o6 srgelt 5h €

fluorine < oxygen < nitrogen.
e gufere & ifen st 8 oy e ad & a7d v Seft 2

Q16. What happens to the electropositive character of elements on moving from left to right in a periodic table?

3Tt Rt 3 AT AT S O et o fI SHTeHsh TOT T o BT 87

Decreases /52dT &

Sol-

On moving from left to right in a period, the electropositive character decreases as the tendency to lose electrons decreases.

T H ST H 3T ST R forega eeTenen 707 S 81 ST @ ifeh S i ol @i shi Safet o g Sl |

Q17. On moving from left to right in a period of the periodic table, the size of the atom:

T AT o SATerd § 1 & TR ST T IHT] T AT -

Decreases /W &1 STl &

Sol-

On moving from left to right in a period, the atomic size decreases as the atomic number (i.e., the number of protons and electrons)
increases but the number of shells remain the same.

STt TS § QT ST R I S (AT ST 37 Seargi=T ohl HeT) Sig 07 TRV STTehTE 3 €1 ST € T okt ShIRiT shl et JoT
Tt 2

Q18. The electronic configuration of an element M is 2, 8, 4. In modern periodic table, the element M is placed in

T A M T Seiagiien for=amd 2, 8, 4 81 gk AT GRoft , qed M a1 3 @ T @

14th group

Sol-

The given element's electronic configuration is 2, 8, 4. This means that there are 14 electrons in this element. (a) The element
belongs to the 3rd period and 14th group. (b) The element is Silicon (Si).

forw e e ot geragife famm 2, 8, 4 21 gwet 31 @ 6 30 e 7 14 302 ) () e et s7afir iR 14 3 we @ weifia 21 (&) 7
fafersptT (&) 21

Q19. 14 elements after actinium is called

Ul % o1e 14 e Feard §
Actinides /Q'%E?IEE:H

Sol-
Actinides: 14 elements present after element actinium (Ac) are called actinides.

UfereTsed: ded ufeefrm () o e WNE 14 T ufeTsed wEe o
Q20. The group number and period number respectively of an element with atomic
number 8 is.

AT S § STt el T FHHRT: T T S ST S 2
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16,2

Sol-

The group number and number of an element with atomic number 8 are 16 and 2 respectively. The periodic table consists of 7
periods and 18 groups. The vertical columns are called Groups and the horizontal rows are called Periods.

TRHTU] SFHTSh § STt el 3l HHE ST ST HEa FHAeT: 16 37K 2 2| 3ATad Joft 7 7 3Tad S 18 T8 &) Sealer &l i S Fel Sl &
3R aifo dferalt st aTerd e ST 21

Q21. An element belongs to period 2 and group 2 the number of valence electrons in the atoms of this element is.
T e AT 2 1 2 SR HHE 2 H 50 qed o TATIST § HAISThall Setagii sl 6 2l

2

Sol-

Period =2

Group =2

Element =Be4

Electronic configuration of Be=2,2

Therefore No. of valence electrons =2

srafer=2
Eﬂ§=2
dcd = Be4d

Be T g (e fo=ame = 2,2
I TRATSTRAT Soidg T bl ST =2

Q22. In the third period of the periodic table the element having smallest size is

3T RT3 IR ST H T BIeT SR AT dcd &

Ar

Sol-

Argon (Ar) is present in the last period of the periodic table, which has the smallest atomic radius.

AR (Ar) ST Bt 3 sifer strad & Suftera 2t 2, et wem e wed 31 et 21

Q23. Electronic configuration of Al

Al T seAeten fomma

2,8

Sol-

The arrangement of electrons in different energy levels around a nucleus is called electronic configuration. The periodicity in
properties of elements in any group is due to repetition in the same valence shell electronic configuration after a certain gap of
atomic numbers such as 2, 8, 8, 18, 18, 32.

The atomic number of Al is 13 and its electronic configuration is 2,8,3. So, the electronic configuration of Al 3+ is 2,8.

T A1freh o =T ST fofir Soott Tkl & SeiargiT ohl el 1 Seragiien foramer et ST 21 foreft oft we & et o Tuit ot 31rardian 2, 8,
8, 18, 18, 32 S AT SFHiehi o Toh A STaRTEt o S1E HHT HTSIohaT et Seiag -1k (o=t # JARTaIf o T 8t 2l

AT TRHTY Sheieh 13 ¥ ST 36t Setagifich foram 2,8,3 1 31: Al 3+ o1 Seiagieh formamer 2,8 21

Q24. In which group of the modern periodic table are halogens placed?
Ty ST ATt 3 fore wE § R T e

17th

Sol-
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Number of
Group | Common | electrons for
number name bonding
Alkali
1 metals 1
Alkaline
earth
2 metals 2
Crystalloge
14 ns 4
15 Pnictogens 5
16 Chalcogens 6
17 Halogens 7
Noble
18 gases 8

Q25. Elements of 2nd period are known as

foefter s1rardt o et shi shat STt &

Bridge element /@—g[ dcd

Sol-

Elements of the IInd period are known as Bridge elements.

fiefter aTrardt o el shi g e et ST 2

Q26. The most electropositive halogen is

watfere o erTersh Reiis &

I

Sol-

Iodine is the least reactive and the most electropositive halogen. It tends to lose electrons and form positive ions during chemical
reactions.

AT HeTd i TRl ST o AR foreqa aTorsh 2o &) 7€ THmfe: SdisRamstl & S seiag i i @ odT § 3T
GHTTCH ST ST 2

Q27. Modern periodic law was given by-

ATefer STTerd e forwren g o e
Mendeleev /Hgefia
Sol-

In 1869, Dmitri Mendeleev and Lothar Meyer established the periodic law independently.
1869 #, fafirft Heefiar 37 Eor He o T &9 ¥ SATafe FHId bl T 3|

Q28. Most heat resistant material in the world is

forg & wrerr sfiren roff wicrreft ameft 2

Tantalum carbide /&&ad W’E@

Sol-

Researchers have discovered that tantalum carbide and hafhium carbide materials can withstand scorching temperatures of nearly

4000 degrees Celsius.
SIS = IaT AT @ foh Seaim whetige 31 3% Haw retze amft @ 4000 feft aifcemrer 36 1 STom™ o1 ST S wend) R

Q29. The gas that filled the electric bulb is

forsteft o seet ot it arett 1 2

Nitrogen /TIE@T?FT

Sol-

Incandescent light bulbs are filled with an inert gas like nitrogen, argon, or krypton - so that the filament doesn't catch fire. Early
ones were a vacuum. Flourecent lamps are filled with an inert gas plus mercury vapour or neon, which glows ultra-violet when

charged.
T YehTRT Ses ATSgISH, AN, AT foreet St Stfora e & siU eI - d1feh fohemie 5 ST 7 77| eeiTdl T et o) werieie o uh
TR e wore IR ST AT R & R B E, S SIS g W STegl-aIele SHeRdT ©
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Q30. How many elements are present in the sixth period of the modern periodic table?
e ST A 3 o i Py e g B2

32

Sol-

The sixth period contains 32 elements.

TS I | 32 e 8l

Q31. How many periods and groups are present in the periodic table?
AT e e Tt s s 8
7 periods and 18 groups /7 e 37T 18 e
Sol-
In the periodic table, there are seven periods, with each starting on the far left. Centered on the arrangement of the outer shell
electrons, a community is a vertical column of the periodic table. A total of 18 groups exist.
HTad HROT H, T 1 8, S & T Tor o7 3R & I[E 211 8 STedl et Soiag i ohi e T Hid, T GHar SATad qrvf o T
FEATa W 81 FA 18 T HISE a

Q32. Which group elements are called transition metals?

T G A WA U] FEAN 27

Group number 3 to 12 /gcr:m 3T 12

Sol-

The d- block elements that are the elements from the group 3—12 are called transition elements. The position of d-block elements is
in between s—block and p—block elements in the periodic table. These d-block elements are called transition elements because they
exhibit transitional behavior between s— and p—elements.

d-5ciTeh o o qcd SiT 8 3—12 3 Tcdl 8, oAU dcd FHeald ol SI-sciieh dedl ol [Rufdl ST aroft # Tg-sciteh 371 fi-sclteh deall % off= 2
S SI-5aiTeh dcal ! HFHAU A el ST & FT1h o TH- 3 A-qedl oh oftel HFHUIehTeI e Jafid Fid ol

Q33. Which of the following does not decrease while moving down the group of the periodic table?/ STed Aot E‘{s’ﬁﬁaﬁ L8
= 5 & e o e g 82

Valence electrons /EaTsIehdr 3@3@’—[

Valence electrons increase from left to right in a period and remain same from top to bottom in a group.

Atomic radii and metallic character increases down the group.

STard # Ao ST ST § AT g € S U Te § S § et 7 T T 8

ATy e S efeareh ceor wope o el ot S aed &

Q34. The noble or inert gases are lined up in the column of the periodic table./ 3Tfsk AT AfsHT T T AT TR %
i 7 dftherg, foram ST 2|

Eighteenth /3T3Reat

Group 8A — The Noble or Inert Gases. Group 8A (or VIIIA) of the periodic table are the noble gases or inert gases: helium (He),

neon (Ne), argon (Ar), krypton (Kr), xenon (Xe), and radon (Rn).

HIE 8T - WEM AT AT 11| 3T GRoft o WHE 8A (1 VIIIA) 7o 1 a1 Afora 16 8: diferm (He), FitT (Ne), 3101 (Ar), e

(Kr), T (Xe), SREH (Rn)l

Q35. The columns of the Periodic Table is called ./ e Gt 3 Tt HET T 2
Groups /PITL%\T
The rows of the table are called periods, and the columns are called groups. Elements from the same column group of the periodic

table show similar chemical characteristics.

QfeAehT 2ht fchall sl ST et ST @, ST =51 e T ST 8] SATeTd AR o Ueh €1 Edio TE oh odl {I TR fereoerai =61
afia i &

Q36. In Periodic Table, elements are arranged in left to right fashion in each row, based on
ATeId HTOf , eall ol o TR T Tedeh Ufch H o71¢ ¥ a7, H3 § sqerfeerd fomam Strar 21
Number of protons in their nucleus (3Teh TR & SIS ShT T
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Q37. Which element in the Periodic Table has the highest atomic number and highest atomic mass of all known elements?/ T
|ROft 3 fore e B AT iR Her Tfereh @ ST ot ST el ohi AT SeaHT He SAfereh 27
Oganesson (3T

Oganesson has the highest atomic number and highest atomic mass of all known elements.

STRTE ShT AT i ol 31fereh 8 ST @il 1 el oht Ty FedH T S 2l

Q38. was the first man-made or artificially produced element./ ERSIRIECATIE G ?f%rq B Y IeATd e ol
Technetium /e

The name is from the Greek word for artificial, since technetium was the very first man-made element, yet despite the name,
technetium is found naturally albeit in tiny traces.

T8 T o o ToTe 3tk 3168 & forer i 2, Riifeh S feam e Tea Hia i e o, 6 oft 7 o srasg, eefeem Bie afet
TR & & ITET ST 2l

Q39. is responsible for maintaining the periodic table./ T ARt T S W % o frer Rl
IUPAC

The IUPAC is responsible for maintaining the periodic table. Most of the elements on the periodic table are metals (almost 75

percent).

[UPAC 3Tard Tt ahi SHTC T o for frwiiem 21 s1rard amoft o stttz qed amq) (e 75 wfaer) &

Q40. Who proposed Law of Triads?/ ZTI€H &1 i1 fore reafera feram?

Dobereiner /@él'l’s:l'(

Dobereiner's triads were groups of elements with similar properties that were identified by the German chemist Johann Wolfgang
Dobereiner. He observed that groups of three elements (triads) could be formed in which all the elements shared similar physical

and chemical properties.

SIRTE o Foreh AT 1] Tt el o g & Forehl we=iT S TR SHeT etk SIser 3 At off| 32 < foh i deait (i)
HE ST ST 6 & for et el T ek ST Trem e 1ot o6 | e &

Q41. Reactive metals with low ionization enthalpies belong to

T st et aeft wfafsramefier arqd & weiferd 2t 2|

s-Block Elements /T9-scTeh dcd

s-block elements are the elements found in Group 1 and Group 2 on the periodic table. Group 1 are the alkali metals which have one
valence electron. They have low ionization energies which makes them very reactive.

TH-5qTeh dcd T Aol TEHE | SR EE 2 7 9T S a1l dcdl 8 W 1 o &7 ST & FO U ST soidgi ardt o) S 6
AR STt 21t & S 37 9ga Nfdfsharsiiet st 2

Q42. In the modern periodic table, the period indicates the value of

yfer STTad Bt §, s T T ST 2

Principal quantum number /4&I FeieH |&AT

In the modern periodic table the period indicates the value of the principal quantum number.

ATYfeR ST Bl 7 ST T Faien WAt % W o gRIdT 2

Q43. In fluorine, incoming electrons are repel by the
AR H, 3T et Sl 1 sht g1 Sfdehfya fomam St @
Thick cloud /A9 S&A

In fluorine, incoming electrons are repelled by the "thick cloud" of electrons.

AR T, T aTe Seiag 1 b Sciag 1 o "5 STeel” §RT @ fearm ST 2l

Q44. In periodic table elements with similar valence shell configuration are placed in/ STa WIOft & FHTT TSR T o= Jret
qea ol H W@ Y

Same group /Th ﬁﬂ'{ﬁ'

The elements with the same valence shell belong to the same period of the periodic table.

GHT GATSTehdT ShITT STed dedl JATad SRUM % GHI ST o 2l
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Q45. Groups contain alkaline earth metals are / ‘v'l'q;éﬁ & gesft 5@'@%%

A

Group 2A (or IIA) of the periodic table are the alkaline earth metals: beryllium (Be), magnesium (Mg), calcium (Ca), strontium
(Sr), barium (Ba), and radium (Ra). They are harder and less reactive than the alkali metals of Group 1A.

1A AT % EHE 2A (31 1IA) & qeaft arqd &: afferm (Be), Aifrm (M), Hiewmm (Ca), ifeam (Sr), sfem (Ba), i ifemm
(Ra)| 3 € 1A T &I 13Tl ol Gt o shisT AR Fffsramfier 2|

Q46. Ability of atom to attract electrons towards itself is called/ qEHT ﬁgﬁﬂ'{lﬁ‘cﬁ SO ST IR e sh ST ShegaTd! &
Electronegativity @gﬁﬁmﬁmmw

Electronegativity. Electronegativity is a chemical property that describes the tendency of an atom or a functional group to attract
electrons toward itself. The electronegativity of an atom is affected by both its atomic number and the distance that its valence
electrons reside from the charged nuclei.

forega sworTeRsha| SeiagTITefaret Ueh Traafiah TUT @ Sl Ueh TRHTU] AT UeF Shrafcrsh e shi il T qui ST & S geiag i ol 7o 371
TR LT 2 Tt TeHTO] Sl e Ter=RUITeHeRaT SHeh TRHTV] ST ST ST 1T & S8eh HellsTehl soiae i1 o T ol gl 3l o
sTTer et 21

Q47. The tenth element in the periodic table resides in:/ Tt Wt H gHet ded FHare T 2

Second period /H;EI":"T srafyr

Each period consist of series of element whose atom has same principal quantum number of outermost shell i.e in second period n=
2 this shell has 4 orbitals which can have 8 electrons hence second period contain 8 element from atomic number 3 to 10.

e ST H dcall shi 2@l Bt @ e o] 3 Werl STt 1T shi H[ delieH S §HT il § 379 qat 3T/ n=2 & 8 i i 4
T BId & ST 8 TIagi 81 Hohd © SHTCTY, fodl e 3T TR0 51k 3 | 10 79 8 Tcdl 8id &l

Q48. *Ce is a member of which block?/ *Ce & sciTeh T He&T 22

f-block elements /T%-scTeh dcd

Ce-58 is a member of the f-block. Cerium (Ce) is a Lanthanide. Cerium is the second member of the Lanthanide series after
Lanthanum. d-block elements are called the transition elements.

HIS-58 Uh-cioh 1 HaW 2l AIEH (Ce) TF ATES B HATH o S1E AR AUTSS Sl 1 To1 e 8 d-5ciTeh o6 deall ol EohoT
cal e ST 2

Q49. The screening effect of 'd electrons is:/ ' SFIHT BT THIHT THTE 7:

Much less than s-electrons W—Eﬁﬁ?ﬁﬁ q Sgd hH

The screening effect of d- electrons is less than p - electrons. In general, d and f electrons have a poor shielding effect compared to s
and p electrons. This is because s and p electrons are close to the nucleus whereas d and f electrons are more diffused (away from

the nucleus).
d-SOFZIAT T TR TS p-geiarg i1 & | BIT o AT AU, d S £ ST 1 s 3T p SeagiT ahl JeriT H GIel THTeor ST 2t
21 e gafer 2 AT s 3 p 3o Tfiveh 3 e 2t € et d ST £ aerag it ferfa (e & ) A E)

Q50. The maximum number of valence electrons possible for atoms in the second period of the periodic table is:

STa RO 3 A AT H THATIAT 3 T T AR HRiIsTehaT Serg] 1 §eT @:

8

In the second period, we have 2s and 2p orbitals, which can accomodate a maximum of (2+6)=8 electrons. Hence, maximum
number of valence electrons is 8.

a7t H, TR o 2s 3R 2p oo €, St AR (2+6)=8 STAZT H AR T o 8| 3Td: HAISTHAT STz 1 STTehan
TE 8 2

Q51. The element having atomic number 19, is a metal with oxidation number
TS e o1 oo shAten 19 @, 9 Ueh o1 @ forareh sitereieneor e &
a metal with oxidation number +1 /TR TEAT +1 JTeAT Rk

Q52. Eka silicon are now known as:

Eka fufeter 31e 30 &9 8 519 o9 &
Ge
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Q53. An element R forms the highest oxide R,O;. R belongs to:
Teh e R S=9dW IATHETEE R,0, SHIT 81 R i 2
15th group /15dT RLE
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